energising our nation

TENDER DOCUMENT

Rust Treatment and Refurbishment of Steel
Lattice Communication Towers (total of 10)

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Fiji Electricity Authority
2 Marlow Street

Private Mail Bag

Suva

Fiji Islands

Copyright © 2017 Fiji Electricity Authority. All rights reserved.

This document is protected by copyright vested in Fiji Electricity Authority (“FEA”). No part of the document may be reproduced or
transmitted in any form by any means including, without limitation, electronic, photocopying, recording or otherwise, without the prior
written permission of FEA. No information embodied in the documents which is not already in the public domain shall be communicated
in any manner whatsoever to any third party without the prior written consent of FEA. Any breach of the above obligations may be
restrained by legal proceedings seeking remedies including injunctions, damages and costs.



fea

CONTENTS
PART 1 INSTRUCTION TO TENDERERS
PART 2 SCOPE AND PROGRAMME OF WORKS
PART 3 TENDER LETTER AND APPENDICES
PART 4 GENERAL CONDITIONS OF CONTRACT (Not included — see note below)
PART 5 SCHEDULES TO GENERAL CONDITIONS OF CONTRACT (Special Conditions of
Contract)
PART 6 SPECIFICATION
PART 7 DRAWINGS & SUPPORTING INFORMATION

Note: Tenderers are assumed to have in their position a copy of New Zealand Standard NZS 3910:2013
“Conditions of Contract for Building and Civil Engineering Construction” on which this Tender is based.

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA



fea

energising our nation

Fiji Electricity Department
2 Marlow Street
Private Mail Bag

Suva
Fiji Islands

PART |

INVITATION TO TENDER

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.

Part 1 Invitation
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: FEA TBA FEA TBA



fea
INVITATION INDEX

INTRODUCTION ...ttt ettt sttt E et R et R et R e e R et r e r e r e nn s ren e 3
INVITATION TO TENDER ..ottt 3
DA T E e 3
DOCUMENTS ENCLOSED ....coiiiiiiieieeisie ettt ettt an e r e nn e an e enenne e 3
ISSUE OF DOCUMENTS ..ottt n et r et nr e 3
ACKNOWLEDGEMENT ...ttt bbb et r e 3
TENDER CLOSE DATE ... oottt bbbt a e r bbb se e en e nn e 4

SCHEDULE L. ..o bbb e e h R bbb bbb e e b b sb e bt e e e e sn e renr e 5
TENDER ACKNOWLEDGMENT FORM .....ooiiiiiiiiii e 5

Part 1 Invitation
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: FEA TBA FEA TBA



INTRODUCTION

INVITATION TO TENDER

The Fiji Electricity Authority (“FEA”) invites tenders for the refurbishment of a total of Ten Steel Lattice
Communication Towers, of which nine are on the Island of Viti Levu and one on the Island of Vanua Levu.

DATE
This invitation to tender (“Invitation”) is dated 23/09/2017

DOCUMENTS ENCLOSED

The following documents (“Tender Documents”) form part of this invitation

Part 2 Scope and Programme of Works

Part 3 Tender Letter and Appendices

Part 4 General Conditions of Contract (Not included — see note below)

Part 5 Schedules to the General Conditions of Contract (“Special Conditions of Contract”)
Part 6 Specification

Part 7 Drawings

ISSUE OF DOCUMENTS

Tender documents issued to each tenderer for use in the preparation of tenders shall remain the property of
FEA at all times.

ACKNOWLEDGEMENT

Each Tenderer is required to acknowledge receipt of this invitation by completing the acknowledgement form
annexed as Schedule 1 of the invitation and returning it to the address set out in the form within two working
days of receipt of this invitation. Each Tenderer acknowledges that the FEA shall not be obliged to deal with
any person(s) other than the person(s) so authorised and indicated in Schedule 1 of the invitation.

Part 1: Invitation
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: FEA TBA FEA TBA



fea
TENDER CLOSE DATE

Tenders will close at 16:00HRS on Wednesday 29" November, 2017 and must be electronically uploaded
in TenderLink and received at the address given below and marked on the outside of the envelope with:

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NUMBER: MR232/2017
DO NOT OPEN BEFORE: 16:00HRS on 29/ 11/ 2017

Tenders are to be submitted in an original and two (2) copies and should remain valid for period of 90 days
from the above closing date. In addition to the paper copies of the Tender, bidders are requested to submit
a copy of your Tender on computer optical disk (CD or DVD).

Sealed Tenders shall be addressed to:

The Tender Box

Fiji Electricity Authority
Private Mail Bag

2 Marlow Street

Suva

FIJI ISLANDS

NOTE:

1. Itis mandatory for Bidders to upload a copy of their bid in the TenderLink Electronic Tender Box
no later than 4:00pm, on {29/11/2017}. The TenderLink Electronic Tender Box can be accessed
on the following website: https://www.tenderlink.com/fea

2. The two (2) hard copies of the tender, one original and one copy must be timely dispatched by
courier or registered post to the aforementioned address.

3. Hard copies of the Tender bid will only be accepted if it is dispatched before the closing date
and time and a soft copy has been timely uploaded in the TenderLink.

4. All late tenders, unmarked envelopes and envelopes without bidder's name and address on the
reverse will be returned to the Tenderers.

Part 1 Invitation
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: FEA TBA FEA TBA


https://www.tenderlink.com/fea

fea
SCHEDULE 1

TENDER ACKNOWLEDGMENT FORM

TO. | General Manager Commercial FROM.
Fiji Electricity Department
2 Marlow Street

Private Mail Bag

Suva

Fiji Islands

Attention: Unit Leader Transmission
Email: TDelairewa@fea.com.fj

Please return this form completed to the Fiji Electrical Authority representative given in the
Invitation Letter.

We acknowledge receipt on / / of the Tender Document for:

TENDER NO: MR232/2017
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers

Please tick as appropriate and advise reasons(s) if you are not tendering;

We accept this opportunity and our Tender will be submitted by the stipulated
time. The contact person for any correspondence relating to this Tender is
indicated below.

We decline this opportunity to tender for the following reasons:

and we will destroy the INFORMATION directly.

With respect to the preparation of the Tender for the above contract, the contact person for
correspondence is;

Name
Company
Address
Telephone
Facsimile
e-mail

Yours faithfully

Signature
Name

in the capacity of:

Part 1 Invitation
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers

TENDER NO: FEA TBA FEA TBA


mailto:TDelairewa@fea.com.fj

fea

energising our nation

PART 2

SCOPE AND PROGRAMME OF WORKS

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.

Part 2 Scope And Programme Of Works
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA



fea

SCOPE AND PROGRAMME OF WORKS

The scope of work, (the Works), is as described in Section 1.2, 2 and 3 of Part 6 — Technical
Specification and incorporates the following:

1.0 The establishment, steel replacement, preparation and painting of selected
Communication towers as detailed in the attached schedule (Appendix A)

11 Site establishment
1.2 Steel replacement including removal of redundant elements

1.3 Preparation and painting of designated structures

2.0 The delivery dates for the items to be provided by FEA are as follows:
2.1 To be determined, if deemed necessary.

3.0 The key scheduled dates are set out below and the Works are to be executed in the
time frames given:

3.1 Anticipated award of Contract: January, 2018

3.2 Anticipated Contractor start date on site: March, 2018

3.3 Completion: 31/12/2018

3.4 Tenderers site visit date: Tuesday 31/10/2017 thru Friday 03/11/2017

A Site Visit for the tender shall be held as follows:

1. All interested bidders are to report to FEA Kinoya Depot at 09:00hrs on
31/10/2017 for discussion of Tender Document and for Site Visits to the
following tower locations: Cunningham, Kinoya, and Nakobalevu.
2. All interested bidders are to report to FEA Kinoya Depot at 09:00hrs on
1/11/2017 for Site Visits to the following tower locations: Wailoa, and
Taladrau
3. All interested bidders are to report to FEA Navutu Depot at 09:00hrs on
2/11/2017 for Site Visits to the following Tower Locations: Kavukavu, Lololo,
Navutu, and Vuda
4. All interested Bidders are to report to FEA Team in Labasa Airport’s Parking
Lot at 09:30 Hrs on 3/11/2017 for site visit to the following tower location:
Delaikoro
Note: Overseas Bidders are encouraged to secure prior flight bookings on the Fiji Airways
website: www.fijiairways.com for flights to Labasa Airport (IATA Code: LBS / ICAO Code: NFNL) from
Nausori International Airport (IATA Code: SUV /ICAO Code: NFNA) or from Nadi International
Airport (IATA Code: NAN, ICAO Code: NFFN).

Part 2: Scope And Programme Of Works
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA


http://www.fijiairways.com/
https://en.wikipedia.org/wiki/International_Air_Transport_Association_airport_code
https://en.wikipedia.org/wiki/International_Civil_Aviation_Organization_airport_code
https://en.wikipedia.org/wiki/International_Air_Transport_Association_airport_code
https://en.wikipedia.org/wiki/International_Civil_Aviation_Organization_airport_code

fea

Location of FEA Kinoya Depot:
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+(FEA)+Kinoya+Depot/@-
18.1124272,178.4782004,17z/data=!14m5!3m4!1s0x0:0xb89fcfO0aca7a7a4!8m?2!3d-
18.1119168!4d178.4781153?hl=en

Location of FEA Navutu Depot:
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-
+Lautoka/@-
17.6278109,177.4286896,17z/data=14m12!1m6!3m5!1s0x6e176712a626acl13:0xec45cl7ac?
885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-
17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-
17.6278109!4d177.4308783?hl=en

Location of Labasa Airport Parking Lot:
https://www.google.com.fj/maps/place/Labasa+Airport+(LBS)/@-
16.4656826,179.3367198,18z/data=!3m1!4b1!4m5!3m4!1s0x6e21d42324cc60bf:0x64€29d6
de200352b!8m2!3d-16.4656826!4d179.3378141?hl=en

Part 2: Scope And Programme Of Works
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA


https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+(FEA)+Kinoya+Depot/@-18.1124272,178.4782004,17z/data=!4m5!3m4!1s0x0:0xb89fcf00aca7a7a4!8m2!3d-18.1119168!4d178.4781153?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+(FEA)+Kinoya+Depot/@-18.1124272,178.4782004,17z/data=!4m5!3m4!1s0x0:0xb89fcf00aca7a7a4!8m2!3d-18.1119168!4d178.4781153?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+(FEA)+Kinoya+Depot/@-18.1124272,178.4782004,17z/data=!4m5!3m4!1s0x0:0xb89fcf00aca7a7a4!8m2!3d-18.1119168!4d178.4781153?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Fiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka/@-17.6278109,177.4286896,17z/data=!4m12!1m6!3m5!1s0x6e176712a626ac13:0xec45c17ac7885ca4!2sFiji+Electricity+Authority+-+Navutu+Depot+-+Lautoka!8m2!3d-17.6278109!4d177.4308783!3m4!1s0x6e176712a626ac13:0xec45c17ac7885ca4!8m2!3d-17.6278109!4d177.4308783?hl=en
https://www.google.com.fj/maps/place/Labasa+Airport+(LBS)/@-16.4656826,179.3367198,18z/data=!3m1!4b1!4m5!3m4!1s0x6e21d42324cc60bf:0x64e29d6de200352b!8m2!3d-16.4656826!4d179.3378141?hl=en
https://www.google.com.fj/maps/place/Labasa+Airport+(LBS)/@-16.4656826,179.3367198,18z/data=!3m1!4b1!4m5!3m4!1s0x6e21d42324cc60bf:0x64e29d6de200352b!8m2!3d-16.4656826!4d179.3378141?hl=en
https://www.google.com.fj/maps/place/Labasa+Airport+(LBS)/@-16.4656826,179.3367198,18z/data=!3m1!4b1!4m5!3m4!1s0x6e21d42324cc60bf:0x64e29d6de200352b!8m2!3d-16.4656826!4d179.3378141?hl=en

fea

Appendix A:
Estimated
Estimated Abrasive blast
Co-ordinates Tower Area area
Item # Site Name Island Region Direction - Summary Latitude Longitude 400 220
1 Delaikoro Vanua Levu |Northern |20km south of Labasa Airport 16°35'22.45"S | 179°19'0.88’E 60 20
2 Cunningham Viti Levu Central Suva - 6km north of city centre 18° 6'16.00"S | 178°27'26.09"E 175 85
3 Kinoya Viti Levu Central Suva - power station 18° 6'43.32"S | 178°28'40.90"E 525 485
4 Nakobalevu Viti Levu Central 8km west of Suva 18° 3'39.97"S | 178°24'58.65"E 160 20
5 Kavukavu Viti Levu Western |On Mt. Kavukavu 17°58'8.84"S | 177°17'52.09"E 525 20
6 Lololo Viti Levu Western |18km North East of Lautoka 17°33'52.94"S | 177°36'47.06"E 85 10
7 |Navutu Viti Levu Western |FEA depot Lautoka 17°37'41.90"S | 177°25'52.67"E 250 10
8 Vuda Viti Levu Western |Vuda Power station - Lautoka 17°40'31.02"S | 177°26'1.77"E 425 385
9 Taladrau Viti Levu Western |Near Monasavu Hydro 17°45'10.31"S | 178° 4'21.77"E 160 20
10 Wailoa Viti Levu Western |Switchyard at Wailoa power station 17°44'27.87"'S | 178° 6'11.66"E 400 220

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA

Part 2: Scope And Programme Of Works




-
JDeIaikoro coms tower

Lololo Comms tower.
Navutu Comms tower :

Vuda Comms Tower{™ wailoa.Comms 10W8r#‘_?aladrau comms towerh;)
P

KavuKavu Comms tower
. Nakobalevu'Comms tower
Kinoya Comms Towers%@unningham Rd Comms tower

Google Earth

Data LDEO-Columbia. NSE, NOAA
Data 510, NOAA, LIS, Navy. NGA, GEBCO

Part 2: Scope And Programme Of Works
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA




féa

energising our nation

PART 3

TENDER LETTER AND SUPPORTING
INFORMATION

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.

Part 3: Tender & Supplementary Information
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea
TENDER LETTER AND SUPPORTING INFORMATION

INDEX
TENDER LETTER .o bbbt b e ar e bbb e e nr s 3
APPENDIX TO THE TENDER LETTER ...t 5
FORM 1 - EXCEPTIONS AND DEPARTURES ..ot 6
FORM 2 - CONTRACT PROGRAMME ..ot e 7
FORM 3 - SUB-CONTRACTOR-SUPPLIER LISTING .....occiiiiiiiiiiiine e s 8
FORM 4 — CONTRACT SPECIFIC SYSTEMS INFORMATION.......cciiiiiiiiiieieeese s 9
FORM 5 - LABOUR, PLANT AND EQUIPMENT RATES ...t 10
FORM 6 - OVERHEADS AND PROFIT ..ot 12
FORM 7 - WORKS IMPLEMENTATION OUTLINE ....cooiiiii e 13
FORM 8 - RESOURCE LISTING ......coiiiiiiiiieiie ettt ettt sne e een e sre e e nne e erenne e 14
FORM 9- SCHEDULE OF PRICES........ci it 15

Tender & Supplementary Information



fea
TENDER LETTER

Tenderers should submit a Tender Letter in the following format with all the appropriate supporting
information attached in accordance with the requirements of the Tender Document

(COMPANY LETTERHEAD)

In response to your Invitation to Tender No. MR232/2017 — Rust Treatment and Refurbishment of
Communication Towers, dated 23/09/2017 and having examined all parts of the Tender
Document we the Undersigned, offer to execute, complete and remedy defects in the whole of the
said Works in conformity with the General Conditions of Contract, the Special Conditions of Contract,
Specification, Drawings attached to the Tender Document and the supplementary information
attached hereto and to comply with the requirements of the Notices to Tenderers, for the sum of
(Contract Sum in words) (
$ ) excluding GST, or such other sums as may be ascertained in accordance
with the said Conditions.

1. We hereby acknowledge that such sums specified as liquidated damages in the Schedule to the
General Conditions are not a penalty but are a genuine and fair pre-estimate of the losses which
The Fiji Electricity Authority will suffer in the event of the Contractor failing to complete the Works
within the specified Time for Completion.

2. We undertake if our Tender is accepted to commence work on the Contract upon receipt of the
Letter of Acceptance and to complete and deliver the whole of the Works comprised in the
Contract within weeks calculated from the date of the Letter of Acceptance.

3. We agree that this Tender shall constitute a binding offer for the period of 180 days from the date
fixed for receiving the same and that it may be accepted at any time before the expiration of that
period.

4. Unless and until a formal Contract Agreement is prepared and executed, this Tender, together
with your written acceptance thereof, shall constitute a binding contract between us.

5. We understand that you are not bound to accept the lowest or any tender you may receive.

6. We undertake that we accept each and every term and condition contained in the General
Conditions of Contract NZS 3910:2013, Special Conditions of Contract, Specification and
Instructions to Tenderers and that our Tender conforms to the same except as listed in Form A —
Exceptions and Departures.

7. We acknowledge that we have the latest edition of the General Conditions of Contract, NZS
3910:2013 and that we accept the terms and conditions of the same.

8. We acknowledge that we have inspected the site, examined the tender documents and any other
information supplied in writing and we are satisfied with the sufficiency of the tender price.

Tender & Supplementary Information



fea
Attached and made a part of this proposal are all data required by the Tender Document.

Notices to Tenderers received and allowed for in this Tender are:

Tenderer: (Name)

Title:

Signature:

Duly authorised to sign Tenders for and on behalf of

Company:

Business Address:

Business Telephone:

Date:

Tender & Supplementary Information



fea
APPENDIX TO THE TENDER LETTER

SUPPLEMENTARY INFORMATION
The following information shall be submitted with the Tender:
Form 1 - Exceptions and Departures

The Tenderer should detail each exception to or deviation from the Tender Document
including Part 4 General Conditions of Contract

Form 2 - Contract Programme
The Tenderer should provide a programme for the Contract.
Form 3 - Sub-contractor Listing

The Tenderer should provide a full list of sub-contractors and suppliers proposed for
involvement in the Works.

Form 4 — Contract Specific Systems Information

The Tenderer should answer questions on Form 4 detailing contract specific compliance with
the safety, quality and environmental requirements of the Contract.

Form 5 - Labour, Plant and Equipment Rates

The Tenderer should provide a list of all labour, plant and equipment that will be utilised in
executing the Works, indicating thereon the net hourly rates to apply in the format provided in
Form 5.

Form 6 - Overheads and Profit

The Tenderer should indicate the percentage additions required to net rates and costs of
labour, plant and equipment, sub-contractors and materials supplied, where used in
formulation of prices to relate to variations and for day-works, in the format provided in Form
6.

Form 7— Works Implementation Outline

The Tenderer should provide a method statement in the format provided in Form 7.

Form 8 - Resource Listing

The Tenderer should provide details on its proposed resources and Contract structure in the
format provided in Form 8.

Form 9 — Schedule of Prices

The Tenderer should complete the Schedule of Prices indicating the makeup of the Tender
sum. The Schedule shall be completed in the format provided in Form I.

Tender & Supplementary Information



fea
FORM 1 - EXCEPTIONS AND DEPARTURES

Tenderer's
Name

List below any exceptions and departures proposed to any part of the Tender Document. Precise
reference to appropriate clauses or sub-clauses is essential. No amendments to the Tender
Document will be recognised unless expressly listed herein. If the Tenderer proposes no exceptions
or deviations, enter "None" below.

If any modification to the original Tender is proposed after submission of the Tender, but
before the closing date, a revised Form 1 should be submitted if appropriate.

Tender & Supplementary Information



fea
FORM 2 - CONTRACT PROGRAMME

The Tenderer should submit with its Tender its proposed Programme for carrying out the Works,
incorporating the required key dates indicated in Part Il - Scope and Programme of Works and
showing the activities necessary throughout the Contract period. The response required will depend
upon the price tendered for the work.

The Programme should include a scheduled bar chart, individual structure identified, work force
histogram and cost ‘S’ curves.

Details should include-

Scheduled start and finish

Activity duration in days

Activity description

Manpower histogram

Monthly and cumulative invoicing predictions

Details of work and leave patterns.

Any other information the Tenderer considers will assist in understanding the Tenderers proposal
and methodology.

e Working hours

Note:
Time order of works (programme) will be dependent on the access track work

Tender & Supplementary Information



FORM 3 - SUB-CONTRACTOR-SUPPLIER LISTING

fea

Name and address of Sub-
contractor (see note below)

Description of Sub-
contractor's Work Scope

Comments and Quality
Assurance Standard

Sub-contractor means suppliers of materials, equipment or services that the Tenderer
intends to use if awarded the Contract.

Tender & Supplementary Information




fea
FORM 4 — CONTRACT SPECIFIC SYSTEMS INFORMATION

Tenderers should enter information on their safety and quality management systems that are specific
to this particular Contract

SAFETY

1. Who will be the site representative responsible for local safety co-ordination?

2. What specific safety procedures will be implemented for working in a tropical environment?
3. What communication systems will be employed to ensure emergency response protocols will

be maintained during the period of works?

QUALITY ASSURANCE

1. For this Contract, who has the overall responsibility for the quality of the work being carried
out?

2. Who has the day-to-day on-site responsibility for the quality of work?

3. Who has the responsibility for controlling and issuing of all documents required for use in the

inspection, checking, and carrying out of Site Works?

4, Who is responsible for preparation and issue of the Work Instructions to your staff on Site?
Who has responsibility for the determination and submission to the Engineer for approval of
the necessary inspection plans for purchased materials, work in progress, and the finished
work?

6. What specialist equipment will you be using to determine the finished quality of your work for

this contract?

Tender & Supplementary Information



fea
FORM 5 - LABOUR, PLANT AND EQUIPMENT RATES

GENERAL

The rates given below will be used in the evaluation of variation prices and when a portion of the
Works is to be completed on a day- work basis during the Contract period.

PLANT AND EQUIPMENT RATES

The Tenderer should list below all plant, equipment and vehicles including sub-contractor's plant,
equipment and vehicles to be used on the Site in carrying out the Works, together with net hourly
rates required for use. The rates should be for the NET running costs inclusive of fuel, lubricants,
repairs, parts and service, maintenance, labour and applicable local taxes, but EXCLUSIVE of
overhead charges, profit and GST and/or VAT. If an operator is required, this labour rate shall be
included in the hourly rate for the equipment.

NOTE 1 — The Principal may possibly provide some plant and vehicles for use by the contractor,
during the duration of the works, this may include 4x4 utility crew trucks and water tanker. Tenderers
to indicate details of envisaged vehicles required for the works. Tenderers are also required to submit
their costs for the envisaged vehicles required for the works, if FEA does not provide these vehicles.

Plant and Equipment Type Net Hourly Rate for
(Indicate whether an operator is included) Operating Equipment

©| O N| O O | Wl N

=
o

Tender & Supplementary Information
10



fea
LABOUR RATES

The Tenderer should indicate below the NET hourly rates for all trades to be engaged on the Works.
These rates should be the NET cost to the Contractor of all labour, tradesmen, foreman, sub-
contractors, design staff, and management and should EXCLUDE overhead charges, profit and
GST/VAT.

NOTE 2 — The Principal may possibly provide some ground based labour i.e. truck driver, support
labour etc. The tenderer shall identify the envisaged crew size and indicate what roles cannot be
locally sourced.

Trade - position Rate Per Hour

o g M| W N

Tender & Supplementary Information
11



fea

FORM 6 - OVERHEADS AND PROFIT

The Tenderer should indicate below, the following percentages which will be applied by the Engineer
in evaluating variations in accordance with General Conditions Section 9

€)) The percentages to be added to the net Cost of labour, materials, plant and equipment and
Sub-contractors for on-site and off-site overhead charges to derive the total costs

(b) The percentages to be added to the total Costs in respect of profit, to derive the prices
applicable for the variation.

(@) Overheads % (b) Profit %

Labour (Site)

Materials

Plant and equipment

Sub-contractors

Tender & Supplementary Information
12



fea
FORM 7 - WORKS IMPLEMENTATION OUTLINE

The Tenderer should list below an outline of the proposed execution methodology. The outline should
include such items as:

1. A narrative of the proposed execution of the Works, including mobilisation and logistic
support in Fiji.

2. An indication of number and type of plant required to be on site during the contract
period.

3. The proposed coating system to be used. The tenderer may submit multiple options for

the proposed coated systems for the FEA's consideration.

NOTE: Tenderers are encouraged to give as much detail as possible; this will assist in the evaluation
of the Tender.

Tender & Supplementary Information
13



fea
FORM 8 - RESOURCE LISTING

The Tenderer should provide the following details:
1.0 Personnel
List the proposed key personnel, as follows:

e Project Manager

e Site Supervisor(s)

o Personnel holding ACA/NACE Coating Inspectors Certificates

o Personnel with line mechanic/steel replacement skills and experience

¢ Personnel holding live line competencies

e Any other persons identified in key roles within the Organisation for the Contract

2.0 Organisation
e Give details of your proposed organisation structure and an organisation chart.
3.0 Facilities
Gives details on the following:
e Specialist test equipment required for the Works

e Site installation, huts, offices, etc
e Any Specialist machinery or Equipment (HP water jetting etc)

Tender & Supplementary Information
14



fea
FORM 9- SCHEDULE OF PRICES

NOTES TO THE SCHEDULE OF PRICES

1.0

(@)

(b)

(©)

(d)

(e)

(f)

(¢)]

(h)
i)

0

The Tender is for a measure and value Contract

The Schedule of Prices should be completed and will be used to assess payments due to the
Contractor in accordance with the terms of the Contract and where appropriate, will be used
in valuation of the variations.

The quantities and items included in the Schedule of Prices are not warranted as complete or
accurate.

Detailed descriptions of works and materials required have not been repeated in the Schedule
of Prices.

Anything not specifically listed in the Schedule of Prices but necessary to complete the Works
in accordance with the Contract, shall be deemed to be included in the rates and prices listed
against the appropriate item of the Schedule of Prices.

The Schedule of Prices will be read in conjunction with the remainder of the documents
comprising the Contract.

The rates and prices indicated in the Schedule of Prices should include for labour, materials,
sub-contractors, constructional plant and equipment, preliminary and general items, including
clearance of site during the Works and on completion and making good, for all on-site and off-
site overheads, other costs of whatever nature and profit.

A rate or price should be entered against each item within the Schedule of Prices.

In the event that a price is not entered against any item, the cost of that item is deemed to be
included elsewhere in the Schedule of Prices.

All rates and prices should be exclusive of Goods and Services or Value added Tax.

Where Milestone payments are the method of payment, the Tenderer may propose an
alternative list of milestones, provided it can demonstrate some advantage to FEA by way of
lower Tender price or otherwise. However, the schedules below should be completed for

Tender evaluation purposes.

An electronic version of the pricing schedules, in Excel format will be provided.

Tender & Supplementary Information

15



Schedule of Prices —

PER STRUCTURE RATES

Item No

Site Name

Management

Establishment

All Bolts
Re-torque

Steel

Replacement

Preparation &
Apply Protective

Coatings

Total
{Currency}

Delaikoro

Cunningham

Kinoya

Nakobalevu

Kavukavu

Lololo

Navutu

Vuda

©|© N |0~ |wW|N =

Taladrau

-
©

Wailoa

& B PP |P || R | |B P

& B PP |P || R | |B P

& B PP |P || R | |B P

AR |P|R R R R B |R P

AR PR |h (R R|B|R P

& B PP |P || R | |B P

=
=

NOTES:

fea

1. Price breakdown columns are provided as a minimum mandatory guideline for pricing. The bidders shall add columns as needed to provide
additional price breakdown information wherever possible.

2. Bidders shall clearly separate the Labour and Services component of the Prices, on which 15% Withholding Tax (WHT) shall apply, as per

Fiji’'s Taxation Laws, and as per Fiji’s tax treaties with the bidder’s home country.
3. Bidders shall clearly separate the Reimbursable components from within the services and labour component on which WHT typically does not

apply, for example items such as Hotel Accommodations & Meals, Site Camp Accommodation, Airline Tickets, Transportation of Overseas

personnel to provide complete Scope of works, etc.
4. Bidders shall consult Fiji Revenue and Customs Authority for further information relevant to taxation. Website: www.frca.org.fj

Tender & Supplementary Information

16


http://www.frca.org.fj/

Schedule of Unit Rates (Painting)

No Description of Unit Rates Rate($)
Per {Currency}
Provide Management level contract support including such activities as preparation of and reporting progress,
1. | attendance at meetings, preparation of claims, implementation and any other high level management function — used Structure $
for variation only
> Establish & dis-establish at tower site, including recording access condition and site preparation — used for variation Structure $
" | only
3. | Wash down surfaces to remove salts and other loose contamination — used for variation only Structure
Carry out high pressure water jetting (primary preparation
4 y gh pr jetting (primary prep ) Per m2 $
— used for variation only
5. | Carry out abrasive blast to “NACE VIS 9/SSPC-VIS 5 WAB-10L or WAB-10M " finish — used for variation only Per m2 $
6 “Sweep” abrasive blast to remove any suspect zinc corrosion products, poorly adherent coatings (previously applied) Per m? $
" | and/or alloy stain — used for variation only
7. | Supply and apply zinc rich primer as per specification — used for variation only Per m2 $
8. | Supply and apply undercoat paint as per specification — used for variation only Per m2 $
9. | Supply and apply topcoat paint as per specification — used for variation only Per m2 $
NOTES:

1. Any item listed in the Schedule of Prices shall be used to determine the Unit rate, if the description and type is not included in the above schedule
of unit rates.
2. Bidder shall provide additional rate breakdown, which may be useful for calculating bidder’s perceived variations, if any.

Part 3: Tender & Supplementary Information
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

17




N

N T

s
SN

fea

energising our nation

PART 4

GENERAL CONDITIONS OF CONTRACT

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.



fea

Tenderers are assumed to have in their position a copy of New Zealand Standard NZS
3910:2013 “Conditions of Contract for Building and Civil Engineering Construction” on which
this Tender is based.

Part 4 General Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR TBA232/2017



Rust Treatment and Refurbishment of Communication Towers

Ve

fea

energising our nation

PART 5

SPECIAL CONDITIONS OF CONTRACT

(SCHEDULES TO GENERAL CONDITIONS OF CONTRACT)

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers
TENDER No.: MR232/2017

Copyright © 2017 Fiji Electricity Authority. All rights reserved.



fea

INDEX TO
SCHEDULES TO GENERAL CONDITIONS OF CONTRACT

PART A — SPECIFIC CONDITIONS OF CONTRACT ...oiiiiiiieiiier et e 3
SECOND SCHEDULRE ...ttt ettt r et nr et R et R et r et r e nr et r e e nr e 8
SEIXTH SCHEDULE ..ot bbb bbbt ne e bbbt e s e e st e e en e b nre s 10
SEVENTH SCHEDULE ..ottt r e nr e 11
EIGHTH SCHEDULE ... bbb b bbb e e nre e 12
NINTH SCHEDULE ......ooiiiii ettt r et e et r et n e nn s renn e ne s 13
TENTH SCHEDULLE ..ottt e bbb bbbt bt e b e bbb e b e e e snearens 14

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
2



FIRST SCHEDULE

SPECIAL CONDITIONS OF CONTRACT
(Clause numbers refer to General Conditions)

PART A — SPECIFIC CONDITIONS OF CONTRACT

1.2

The Principal is The Fiji Electricity Authority
of 2 Marlow Street
Private Mail Bag

Suva
Fiji Islands

(b)  There are no Separable Portions in this contract.

211

This contract is a:
(b) Measure and Value against an agreed set of rates.

2.5

This contract is:

(c) Neither a construction contract in public roads nor a term maintenance contract.

26.1

This contract is:
(b)  Not a local authority contract.

2.6.3
Clauses B1 and B2 of Appendix B:

(&) Shall not apply to this contract;

2.6.4(a)
A safety plan for the Site:

(&) Isrequired, as set out in the following parts of the Contract Documents;
Part 6 — Specification 1.2(a)

2.6.4(b)

A traffic management plan:
(b) Is not required.

28.1

fea

Sets of Contract Documents shall be supplied free of charge to the Contractor upon the acceptance of tender

in addition to tender, consent, and Contract Agreement sets. 02

Part 5 Special Conditions of Contract

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
3



fea

29.2

sets of Contract Documents shall be supplied free of charge to the Engineer upon the acceptance of tender in
addition to tender, consent, and Contract Agreement sets.

3.11

A Contractor’s bond:

(b) Is not required.
(Delete provision which does not apply.)

3.2.2

54.1

The Contractor shall be given possession of the Site on:

€) On the day of issuing the purchase order;

5.6.6

(9) Risks specifically excepted are:

5111
(b) There are no parts of the Contract Works to which Appendix D applies.

5171

Quality management systems:

(@) Are required and details shall be submitted by five working days prior to site start date.

5.18.1 (a)

(@)  As-built drawings, are required, as set out in the following parts of the Contract Documents:
0] Part 6 - Specification 1.2 (g) if applicable, as per the finalised scope
(i)  Part 6 — Specification 1.8 item 9, if applicable, as per the finalised scope

5.18.1 (b)

(b)  Operation and maintenance manuals are not required.

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
4



fea
6.1.2

The Engineer and Project Manager is Unit Leader Transmission of the Fiji Electricity Authority, or a
representative explicitly designated by the aforementioned

8.1 and 8.6

(& The Contractor shall insure as provided in 8.1;

8.1.20r8.6.1

(To be completed irrespective of whether the Principal or the Contractor is insuring.)

The amount of the insurance to be effected in respect of the Contract Works and Materials shall be for not less
than the sum of the following:

(a) The Contract Price, after the acceptance of the tender or other offer, excluding any additions or deductions
which may be required to be made during the contract;

(b) For professional fees including the Cost of clerks of works and inspectors, the sum of:
0] 5 % of the Contract Price as described in (a) above;

(c) The value of items incorporated, or to be incorporated, in the Contract Works, the Cost of which is not
included in the Contract Price, the sum of $25,000

(d) For increased construction Costs not already provided for in the Contract Price during the period from the
acceptance of the tender or other offer until the issue of the Defects Liability Certificate for the Contract
Works, the sum of:

(i) % of the Contract Price as described in (a) above;

8.2.1

Contractor’s Plant insurance is required for each item of construction machinery on the Site owned by the
Contractor that has a market value of more than:

$10,000;

8.3 and 8.7

(&) The Contractor shall insure as provided in 8.3;

8.3.10r8.7.1

(To be completed irrespective of whether the Principal or the Contractor is insuring.)
Public liability insurance shall be effected for an amount not less than $ 5,000,000

8.3.2

Motor vehicle third party liability insurance shall be effected for an amount not less than $1,000,000

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
5



fea

8.6.2

The existing structures are:
® As detailed in Appendix A of Part 2 (Scope and Programme of Works)
10.4.5
Prior to the issue of the certificate of Practical Completion:
(&) A producer statement in the form of the Sixth Schedule is required;

1051

Liguidated damages shall be applied as follows:
(@ Inrespect of the Contract Works $ 2000 per Day; or as deemed by the signed contract

11.11
The Period of Defects Liability shall be:

(& Inrespect of the Contract Works Weeks; 52

12.3.1

The percentage to be retained from each progress payment and the limit of the total sums retained shall be:
(@) Inrespect of the Contract Works:
Total retention
10 % of the contract value

Defects liability retention
50 % of total retention

12.8.2

Cost fluctuation adjustments:

(& Shall not be paid;

12.9.1

(c)  There are no Provisional Sums.

12.10.1

(c) There are no Prime Cost Sums.

12111

The contingency sum to be included in the contract is 10% Contract value

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
6



15.1.2

For the purpose of service of payment claims or notices, the postal address of:

(@  The Principal is:
The Unit Leader SCADA and Telecommunication
Fiji Electricity Authority
2 Marlow Street, Suva,
Fiji Islands

For the attention of: Mr Vuate Karawalevu
Email address: VuateK @fea.com.fj

(b)  The Engineer is:

fea

The designated project engineer nominated in writing by Unit Leader SCADA and Telecommunication.

Fiji Electricity Authority
2 Marlow Street, Suva,
Fiji Islands

For the attention of: Mr Vuate Karawalevu
Email address: VuateK @fea.com.fj

(c)  The Contractor is

For the Attention of

Email:

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
7

Part 5 Special Conditions of Contract


mailto:VuateK@fea.com.fj
mailto:VuateK@fea.com.fj

fea

Second Schedule

CONTRACT AGREEMENT

Contract for

THIS AGREEMENT is made on

BETWEEN

(“the Contractor”)

AND

(“the Principal”).

IT IS AGREED as follows:

1. THE Contractor shall carry out the obligations imposed on the Contractor by the Contract Documents.

2. THE Principal shall pay the Contractor the sum of $ or such greater or less sum
as shall become payable under the Contract Documents together with Goods and Services Tax at the
times and in the manner provided in the Contract Documents.

3. EACH party shall carry out and fulfil all other obligations imposed on that party by the Contract
Documents.

4. THE Contract Documents are this Contract Agreement and the following which form part of this

agreement:
(@) The Conditions of Tendering;
(b)  Notices to Tenderers (give details with dates);
(c) The Contractor’s tender; including duly completed Schedules 1-9
(d) The notification of acceptance of tender;
(e) The General Conditions of Contract, NZS 3910:2013;
()  The Special Conditions of Contract;
(@) Specifications issued prior to the Date of Acceptance of Tender;
(h)  Drawings issued prior to the Date of Acceptance of Tender;

Part 5 Special Conditions of Contract

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

8



fea

() The following additional documents: (ldentify any additional documents to be included for
example agreed correspondence.)

WITNESS to the signature
of the Contractor:
Contractor
WITNESS to the signature
of the Principal:
Principal

PART B — OTHER CONDITIONS OF CONTRACT

(Include here other Special Conditions that modify the General Conditions)

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

9



fea

Sixth Schedule

FORM OF PRODUCER STATEMENT - CONSTRUCTION

N P
(Address)

.......................................................... has contracted t0..........cooiiii i
(Contractor) (Principal)

To carry out and complete certain building works in accordance with a contract titled Rust Treatment And
Refurbishment of Communication Towers, TENDER NO: MR232/2017 (“The contract”)

P a duly authorized representative of ...
(Duly Authorized Agent) (Contractor)
believe on reasonable grounds that .......... ..o has carried out
(Contractor)
All Part only as specified in the attached particulars of the building works in accordance

with the contract.

(Address)

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
10



fea

Seventh Schedule

INFORMATION AS TO CONTRACT WORKS INSURANCE

To Whom It May Concern:

From:
We confirm having effected contract works insurance for:
(The Contractor)

(The Principal)
In respect of:

(Project title)
8.1.2 The sums insured are:

(@  Contract price $ (Plus GST)
(b)  Costs of demolition $ (Plus GST)
(©) Professional fees $ (Plus GST)
(d)  Value of items incorporated or to be incorporated $ (Plus GST)
(e) Increased construction costs $ (Plus GST)

TOTAL SUM INSURED $ 0 (Plus GST)
The policy deductibles are:

Non earthquake (GST inclusive) $

Earthquake (GST inclusive) $

Other: (GST inclusive) $

We advise the ‘special’ terms, copy attached, have been applied to this policy

8.5.3, 8.8.4 Policy cover terms included are:
(@)  Automatic reinstatement
(b) No cancellation for non-payment without prior notification
(©) Severally insured
(d) No settlement delay due to exercise of subrogation

Project specific policy

8.1.3 Construction period
Defects liability period
(both subject to alteration under construction contract)
Annual run-off policy

8.1.5 Annual cut-off policy
Policy expiry date

We undertake that this policy will not be cancelled or amended by us within the period of insurance without
written advice to the insured party which has arranged the insurances.

The insurance issued is subject to the terms and conditions of the policy. We do not warrant that this policy
complies with the requirements of NZS 3910:2003.

Insurance Company StamP  ....oeeeeeeiereieiminiei . Date ....cccoovvviiii
(Or name of insurance broking company confirming cover)

SIGNED BY i

SIGNATORY TITLE i
(Clause numbers refer to NZS 3910:2003 and are for information only)

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
11



fea
Eighth schedule
INFORMATION AS TO PUBLIC LIABILITY INSURANCE

To Whom It May Concern:

From:

We confirm having effected public liability insurance for:
(The Contractor)

(The Principal)

In respect of
(Project title)

Annual policy
Policy expiry date:

8.3.1 The limit of indemnity $ (Plus GST)
Sub limit insured for vibration, removal or weakening of support $ (Plus GST)
Deductible is (GST inclusive) $
Deductible for vibration, removal or weakening of support (GST inclusive) $

We advise that “additional” terms, copy attached, have been specifically applied
to this project

The policy covers liability arising out of:
The ownership / use of construction machinery not required to be
registered for road use
The use of hired plant
The ownership / use of watercraft up to 8 m
The ownership / use of aircraft
The use of explosives

8.5.3, 8.8.4 Policy cover terms included are:
(& Automatic reinstatement
(b)  No cancellation for non-payment without prior notification
(c) Severally insured
(d) No settlement delay due to exercise of subrogation

We undertake that this policy will not be cancelled or amended by us without written advice to the insured party
which has arranged the insurances.

The insurance issued is subject to the terms and conditions of the policy. We do not warrant that this policy
complies with the requirements of NZS 3910:2003.

Insurance Company Stamp .o Date ..o,
(Or name of insurance broking company confirming cover)

SIGNED BY oot

SIGNATORY TITLE ..t

(Clause numbers refer to NZS 3910:2003 and are for information only)

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
12



fea

Ninth Schedule

INFORMATION AS TO THE CONTRACTOR’S CONSTRUCTION MACHINERY INSURANCE
To Whom It May Concern:

From

We confirm having effected construction machinery insurance for:

(The Contractor)

In respect of:
(Project title)

Annual policy
Policy expiry date:

8.2.1 The sums insured are:
Schedule of construction machinery attached $ (Plus GST)
The policy deductible is (GST inclusive) $

We advise that “special” terms, copy attached, have been applied to this policy
8.5.3 Policy cover terms included are:

(&)  Automatic reinstatement

(b) No cancellation for non-payment without prior notification

(©) No settlement delay due to exercise of subrogation

We undertake that this policy will not be cancelled or amended by us within the period of insurance without
written advice to the insured party which has arranged the insurances.

The insurance issued is subject to the terms and conditions of the policy. We do not warrant that this policy
complies with the requirements of NZS 3910:2003.

Insurance Company StampP oo Date ..o,
(Or name of insurance broking company confirming cover)

SIGNED BY oo

SIGNATORY TITLE ...

(Clause numbers refer to NZS 3910:2003 and are for information only)

Part 5 Special Conditions of Contract
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017
13



fea

Tenth Schedule

INFORMATION AS TO THE CONTRACTOR’S MOTOR VEHICLE INSURANCE

To Whom It May Concern:

From:

We confirm having effected motor fleet insurance for:

In respect of:

8.3.1

8.5.3

(Project title)

Annual policy
Policy expiry date:

The sums insured are:

Section 2 - liability $ (Plus GST/VAT)
The policy deductibles are:
Section 2 (GSTIVAT $
inclusive)

We advise that “special”’ terms, copy attached, have been applied to this policy

Policy cover terms included are:

(&  Automatic reinstatement

(b) No cancellation for non-payment without prior notification
(c) No settlement delay due to exercise of subrogation

We undertake that this policy will not be cancelled or amended by us within the period of insurance without
written advice to the insured party which has arranged the insurances.

The insurance issued is subject to the terms and conditions of the policy. We do not warrant that this policy
complies with the requirements of NZS 3910:2003.

Insurance Company Stamp .o Date ......oooviiiiiii
(Or name of insurance broking company confirming cover)

SIGNED BY

SIGNATORY TITLE ...t

(Clause numbers refer to NZS 3910:2003 and are for information only)

Part 5 Special Conditions of Contract

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

14



fea

fea

energising our nation

Rust Treatment and Refurbishment of Communication Towers

PART 6

TECHNICAL SPECIFICATION

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.

1

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

Part 6 Specification



fea
SPECIFICATIONS INDEX

1.0 PRELIMINARY AND GENERALL .. .ottt ittt ettt e e e st ettt e et st s st e st e stt e et e et e s st e satesteesaeeseeseesaeesressreesreenns 3
I N N =T 10 Loy o ] 3
1.2 SCOPE OFWORK = GENERAL ...coeiiiiieeiieeeee e 3
L.3 ACCESS TRACKS eeeeeeeeeeeeieieeeieeeieee et eeteeeeeeesetesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesssssesenes 3
1.4  ACCOMMODATION = FACILITIES ceeeteieieeeeeieeeee ettt ettt ettt ettt ettt ettt ettt ettt et ettt e ettt et ettt e e ettt e ettt et e e e e e e e e e e e eees 3
1.5 COMMUNICATIONS «eeeeeeeieieieieeeeeeeeeeeteeeeeeeseeesesesesesesesesesesesesesesesssssesesesesesesesesesesesesesesesesssesesesesesesesesesssenenes 3
1.6 COMMUNICATION EQUIPMENT OUTAGES ..ccvvuniiritieeeretieeerereeererseeesssneeesssieesssseessssneeessssneessssonesssseeesssnns 3
A o 17 I N oYY =T 1 4
S T O 107 N A 2 1 o] -1 4
1.9 HOLD & WITNESS POINTS eeieieieeeieieeeeeeeeeeeee et eeeeee et e e e e e eeesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesesssesenes 5
1.10  ENVIRONMENTAL CONSIDERATIONS ...eeeieieieieieieieieieieieieieieieieeeteeeeeeeeeteteseteteteteteteseteteteteeetetetereteieteseseeeeeeeeeees 5
R T | N =1 K 6
O D o L N O LAY Y 1 3 R 6
R B N 2 =1 11 N 6

2.0 SCOPE OF WORK = PAINTING ...cuctuieuireeiieereerenrensreeereserasssssssssssssssssssssssssssssssssnssenssenssasssasssnssenssnnsss 6
0 R ¥ N T o | N 7
2.2 DEFECT LIABILITY INSPECTION PROGRAMME .......ccciiiiiiiieiiiieeeeeeeeeeeeee ettt 7
2.3 PRIMARY SURFACE PREPARATION .ceeettiiiteiiieeeee ettt ettt ettt et e et e e et e e e et e et e e e e ettt et e e et et e e ettt et e e e ettt et et e e e e et e e e e rerereeeeenees 7
2.4 SECONDARY PREPARATION ...ceiiiiiiiiiiiieieeeeeee ettt 7
2.5 WASHING DOWN coooiiieieeeeeeeeeee e 8
2.6 SOLUBLE SALTS ciiiiiiiiieeeeeeee et 8
R A o1 0 ] [ N Uy o] S 8
2.8 PAINTING ..ot i 8
e I = N1 Ny V=TT o o ] P 9
2.10 PAINT INSPECTION AND THICKNESS TESTING ..eeeeieiiiiiiiiiiieiiiieieeeee ettt ettt e ettt et et ettt e ettt et et e e et ettt e ettt e e e e e e ee e 10
2.11 REPAIR OF DAMAGED OR DEFECTIVE PAINTWORK ...eeetttieiiieieeeieeeeeeeeee ettt ettt ettt et et e e e e e e e e e e e e e e e e e e ne e e e e s e e eaees 10

APPENDIX | = STANDARDS ..ottt ettt ettt e e e e et e et et e st e st e esae e st e aeesatssaeesae e et e e st satessteseeesteeseeesaesresseeesressreenreanns 11

OTHER STANDARDS ...ttt ettt ettt ettt e bt e s 1t e s 1t e ste s essatsshesabeaabe e st e eb b e sbtesbeesbeesbeastssaessbessbeasteenbessbesreesreess 12

APPENDIX Il - PRINCIPAL SUPPLIED MATERIAL ....cooiieeoe ettt ettt ettt testaesteestessaeseassassaessreennn e 13

APPENDIX Il - PERMITTED PRODUCTS (COATINGS) ......coiiiiieitite ittt sttt teste st svesaene v 14

APPENDIX IV = MATERIAL SCHEDULE . .......cooi oottt ettt ettt st e st e e et e et s e st e s teesteesaeesessassres st esreanns 15

2

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



1.0 PRELIMINARY AND GENERAL

1.1

1.2

13

1.4

15

1.6

INTRODUCTION

The Fiji Electricity Authority have a number of communication towers across the country. A
number of these communication towers require various levels of refurbishment as part of
the asset management process.

This work includes steel and bolt replacement, removal of redundant hardware (as directed)
rust removal, decontamination and painting works to be carried out.

SCOPE OF WORK - GENERAL

The scope of work for this contract includes the supply of all labour, plant, materials, power,
equipment and tools required to complete the Works as described below or implied in any
of the Contract Documents:

(a) Preparation and submission of a project plan. The plan shall include detail of Health and
safety, Quality Assurance and Project timeline schedule

(b) Establish on site and disestablish from site once the Works are complete.

(c) Requisition and collect any Principal supplied items from the Principal's store, including
the checking of quality and quantity, loading, transport, documentation and storage and
the return of surplus material supplied by the Principal to the Principal's store.

(d) Preparing all sites as to afford all protection necessary for the continued wellbeing of
personnel, and property.

(e) Execution of the works, and preparation and painting as detailed elsewhere in this
document (including tower steel replacement).

() Removal of all construction debris and temporary works, tidy all work sites and reinstate
any damage caused during the Works.

(g) Return a set of “as-built” drawings to the Engineer, if applicable.

ACCESS TRACKS

Where required any major track formation will be carried out by other parties prior to the
commencement of the works. The access tracks shall be suitable for 4x4 vehicles.

ACCOMMODATION — FACILITIES

The contractor shall arrange for his or her own accommodation and messing at a suitable
location, within easy driving distance from the work sites, where possible.

COMMUNICATIONS

During the assessment survey, cell phone coverage was found to be good at most
communication tower sites.

COMMUNICATION EQUIPMENT OUTAGES

No outages are envisaged

Part 6 Specification

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: FEA MR TBA



fea

1.7 HEALTH AND SAFETY

The Contractor’s safety programme submission [ref 1.2 (a)] shall also address:

(8) The health and safety requirements for pressure water cleaning and wet abrasive blast
cleaning

(b) The requirement for persons working aloft to be attached at all times.
(c) Working in Tropical conditions
(d) The health and safety information available from the paint manufacturer.

(e) The requirements under Section 5.7 of the General Conditions of Contract

1.8 QUALITY RECORDS

Quality Records to be submitted to the Engineer and/or retained by the Contractor includes

the following:
Submit to Engineer No of
Item Quality Record Copies to
Engineer

Individual tower profile drawings with

1 Yes 1
replaced members marked up

5 Completed material schedule indicating Yes 1
numbers of bolts relaced

3 Paint material batch inspection records
(including supplier laboratory QA Yes 1
records)

4 Wet abrasive blast cleaned areas Yes 1

5 Daily work records (Environmental data) | Priorto ITO 1

6 Final inspection & paint thickness test Prior to ITO 1
records

7 Nouﬁaple non.—conformance records and Within 48 hours of event | 2
corrective actions

8 Pre-and post-Work photos Yes 1

9 sets of “as bu|_It drawings showing Yes 5
replaced/repaired steel

[ITO = Issue of Taking Over Certificate]
Note: Additional documentation as indicated under the Contractor’s Quality Plan shall be made
available to the Engineer as requested.

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

1.9 HOLD & WITNESS POINTS

(8) A hold point is a completed stage of the work at which the Engineer or his
representative will inspect before commencement of the next stage of work on that
structure.

(b) A witness point is a stage of the work at which the Engineer or his representative
may observe, or receive evidence of compliance with the contract without impeding
the progress of the work.

(c) Scheduled Hold and Witness points shall be required as follows, unless indicated
otherwise by the Engineer

Item Event Witness or Hold
Point

1 Approval of Project Plan/ Procedures Hold

2 Approval of Contract Programme Hold

3 Verification of necessary procedures Witness

4 Verification of replacement member calculations Witness
and sign off by suitably qualified engineer

5 Verification and agreement of secondary Witness
preparation areas

6 Pressure water cleaning Witness

7 Surveillance of initial soluble salt test procedure Witness

8 Completion and Secondary Preparation of Hold
selective priming of a random of towers

9 Completion of undercoat painting of a minimum Hold
of 3 of towers.

10 Completion of finish coat painting of each tower Witness

11 Non-conformance’s Witness

12 Completion of defect liability remedial works Hold

1.10 ENVIRONMENTAL CONSIDERATIONS

(@) The Contractor shall clear or trim any bush and obstructions around the
Communication towers in order to expose any hidden steelwork.

(b) The Contractor shall make good any damage caused during the execution of the
work to the reasonable satisfaction of the Engineer.

(c) The Contractor shall take photographs of each tower site both before the work
starts and at the completion of the work, for the purposes of verifying remedial
measures.

(d) The water blast cleaning and painting procedures must prevent contaminants or
paint from causing damage to transmitting equipment, buildings, vehicles and other
third-party assets or to cause a risk to public safety. The Contractor shall install
shields or other protective devices where appropriate.

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

1.11 MATERIALS

Principal Supplied Materials - Refer to Appendix Il

Materials Supplied by the Contractor shall include, but is not limited to -

(@) Paint
(b) Abrasive media (garnet)
(©) Solvents

1.12 RETURN OF MATERIALS

Any unused Principal supplied materials shall be returned to the place of storage from which
delivery by the Principal was made, for which a receipt shall be issued. The Contractor shall hand
a copy of the receipt together with the Contactors materials return schedule. The Contractor shall
provide lifting and transport equipment/vehicles as required for moving and unloading the
materials.

1.13 REFERENCES

Except where they are modified by this Specification or the Drawings, the relevant requirements
of the Standards and Codes of Practice contained in Appendix 1 and the Paint manufacturer's
material safety data sheets (MSDS's) and product data sheets, shall form part of and be read in
conjunction with this Specification.

2.0 SCOPE OF WORK - PAINTING

The Scope of Work shall include the supply of labour, plant, materials, equipment, tools etc. to
complete the works as described below or implied in any of the Contract Document. The Scope of
Work for this Contract shall comprise of:

(@) Prepare and document work, safety, environmental and quality assurance programmes. (This
shall include inspection, testing/monitoring and include verification of compatibility of cleaning

materials with paint systems used.)

(b) Carry out replacement of bolts that meet replacement criteria.
(c) Carry out replacement of steel members that have reached replacement criteria.

(d) Retorque all bolts to specification.
(e) Complete high-pressure water cleaning of all tower steel on structures.

(f) Effect secondary preparation (abrasive blasting) and priming of areas of rust, zinc corrosion
products or alloy effect.

(g) Complete undercoat and topcoat painting of all tower steel including antennae brackets and
fittings.

(h) Removal of all construction debris and temporary works

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

(i) Maintenance of the works, touching up defects as required or as specified by the Engineer or
Engineer's Representative (This includes defect liability inspections and defect repair where
applicable)

(i) The supply of quality records on the completion of milestones.

2.1 RE-INSPECTION

Should witness or hold point inspection result in the Engineer requiring remedial work or repairs to
be completed by the Contractor, and subsequent repeat inspection be required, then the costs of
the repeated inspection shall be borne by the Contractor.

2.2 DEFECT LIABILITY INSPECTION PROGRAMME

Where the Special Conditions of Contract stipulate a multi-year defect liability period, the
commencement of that duration is calculated from the date of practical completion of the tower(s).
The Engineer will have inspections carried out on a portion of the completed works after the 1st
year's anniversary of the practical completion. The results of this inspection will determine the
course of action for any defect work.

2.3 PRIMARY SURFACE PREPARATION

(a) Each entire tower surface including any replaced steel members, frames and anti-climb
door shall be Pressure Water Cleaned (HP-WC) to NACE No 5/SSPC 12, WJ-4,
performed at pressures of no less than 34 MPa (5000 psi) and at a flow rate of 30 litres
per minute.

(b) Pressure water cleaning equipment shall be such that it will produce a consistent finish on
all surfaces that is free of all visible oil, grease, dirt, dust, all soluble salts, any loosely
adherent (previously applied) coatings, loose rust and loose zinc corrosion products
(ZCP). Where any ZCP remains, this shall be removed by light wet abrasive (slurry)
sweep blast cleaning.

(c) The equipment shall incorporate suitable water jetting (fan jet type) nozzle. Use of the
secondary preparation style of wide bore gun (with abrasive disconnected) shall not be
used for primary preparation, unless the required pressure and volumes as indicated in
3.4 (a) are maintained.

(d) Water used for pressure blast cleaning, wet abrasive blast cleaning and washing down
shall be potable with a resistivity of not less than 1500 ohm-cm or equivalent maximum
conductance of 667uS.

24  SECONDARY PREPARATION

(@) Where the pure zinc (Eta) layer is largely gone, but any underlying iron/zinc alloy
(Zeta/Delta) layer remains, full abrasive blasting is not required. Those areas shall be
“sweep blasted” using the abrasive entrained water blast cleaning system to obtain a
profile height in the optimum range of 25-50um.

(b) Where bulky zinc corrosion product encrustations remain after primary preparation, they
shall be “sweep blasted” using the abrasive entrained water blast cleaning system, such
that the treated surface is free from visible residues, staining or loose zinc corrosion
products with profile height in the optimum range of 25-50um.

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

(c) Where any previously applied coatings have not been fully removed by pressure water
blast cleaning alone, abrasive entrained water blast cleaning shall be used to ensure full
removal.

25 WASHING DOWN

(a) After any abrasive entrained water blast cleaning, all surfaces shall be washed to ensure
removal of spent abrasive and/or residual contamination.

(b) If the tower steel surface remains unpainted, or the time delay between coats, exceeds 48
hours, the Contractor shall determine the existence of any contamination (i.e. soluble
salts, foreign particles and flash rusting) and repeat preparation steps as necessary.

(c) Any area subject to abrasive entrained water blast cleaning, and showing bare steel, shall
be patch primed as soon as the surface area is dry, and in any case this must occur
within 4 hours. Re blasting shall be mandatory if this requirement is not met.

26  SOLUBLE SALTS

Immediately prior to the application of any coatings, the surface shall contain less than 10
pg/cm2 of chloride contaminants." The Contractor shall test for traces of non-visible
contaminants using an approved proprietary testing method and sampling technique to
perform quantitative tests for the presence of salt contamination.

2.7 CARE OF INSULATORS

The Contractor shall ensure water blast debris and paint droplets do not contaminate any
transmitting equipment or cables/wave guides. The Contractor shall fit a suitable shield as a
form of protection against paint contamination. Any contaminated equipment shall be
cleaned to the satisfaction of the Engineer.

2.8  PAINTING

(a) The Contractor shall, in accordance with the paint manufacturer's product data sheets,
apply:

(b) Primer - a patch coat of an approved zinc rich primer to all abrasive entrained water blast
cleaned areas (including sweep blast areas) to achieve a minimum dry film thickness of
75um.

(c) Undercoat - a full coat of an approved MIO pigmented paint, coloured green, to the entire
surface to achieve a minimum dry film thickness of 60 pm.

(d) Finish coat - a full coat of an approved MIO pigmented paint, coloured to a light grey
NZS/BS 5252 00-A-07, to the entire surfaces at a minimum dry film thickness of 60 pm.

Note: Where the moisture curing urethane-coating system is selected, please refer to
the manufacture’s data sheet for the more exacting dry film thickness requirements

! Ref: NACE No0.5/SSPC-SP 12, Table A1l NV-2 with chloride adjusted up from 7 to 10pg/cm2

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

(e) Each of the structures within the scope of work shall be painted with one of the optional
systems. The use of more than one system shall only be used following consideration and
approval by the Engineer. A list of approved products and their manufacturers is attached
in Appendix Il1.

(f) All paint shall be received and stored by the Contractor in a well-ventilated building free
from excessive heat and cold. The oldest paint shall be used first provided it is within the
supplier's recommended shelf life.

(g) The paint shall be thoroughly mixed in accordance with the supplier’s specific instructions.
The Contractor may reduce the coating, utilising only the thinners documented by the
paint manufacturer on their product data sheet, to achieve the optimum application
consistency, provided that wet film deposition is such that the required minimum dry film
thickness is obtained. Refer to AS.3894.3. Appendix VII

2.9 PAINT APPLICATION

Paint shall not be applied when any of the following environmental conditions apply, except
in the case of moisture curing urethanes by reference to supplier’s technical data sheets.

(i) The surface is less than 3.0C° above the dewpoint.

(i) The surface temperature of the steel is below 5°C.

(iii) The relative humidity exceeds 85%

(iv) There is moisture or ice visible on the surface of the steel (Note that certain
approved products are tolerant of residual moisture).

(&) Any condition stipulated by the paint manufacturer in their technical data, which is more
restrictive than (i) to (iv) above.

(b) Paint application in marginal conditions shall proceed only if the assessed conditions are
stable or improving. The Engineer may order painting to cease if, despite all the above
conditions being met, there is, in the Engineer's opinion, another valid reason for so
doing. This includes but is not limited to high wind, and or adverse temperatures.

(c) The curing times and re-coating intervals nominated by the paint manufacturer in their
technical data sheets shall be strictly observed.

(d) The paint shall be applied to give a uniform coating to the dry film thickness specified
over the complete tower structural steelwork from base plates upwards Each coat of
paint shall be free from runs and sags. There shall be no holidays in any of the applied
coats of paint. Care shall be taken to ensure the attainment of the specified paint
thicknesses on the edges of angle steel members.

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



fea

2.10 PAINT INSPECTION AND THICKNESS TESTING

(&) The wet film thickness of paint shall be measured by means of a suitable comb type wet film
gauge on a regular basis, to ensure that the correct amount of paint is applied. Due to the
existence of the weathered galvanising of variable thickness, non-destructive dry film
thickness measurements may not give an accurate reading of how much new paint has
been applied. Therefore, attention must be paid to the frequent utilisation of the combs by
each of the Contractor's applicators.

(b) As part of the Contractor's Quality Control procedures, the total volume of each coat
comprising a system applied to each structure shall be recorded, to allow for calculation of
average film build.

(c) Where there is reasonable cause to suspect deficient film build, and the Contractor is
unable to offer acceptable evidence of compliance, then the Engineer may instruct the
Contractor to carry out a dry film thickness sampling procedure and provide an assurance
that the minimum dry film thickness has been achieved. The location of the sampling
positions shall be determined by an approved random sampling technique. No one single
measurement shall be more than 20 percent below the specified minimum. Immediately
following the measurements, repair of the paint system shall be carried out in accordance
with clause 3.12 below.

Note: Acceptable test methods are: -

e Non-destructive for total dry film thickness only — AS/NZ 3894.3

e Destructive for dry film thickness of each layer, including remnants of galvanising under
the paint film — AS/NZS 1580.108.2

2.11 REPAIR OF DAMAGED OR DEFECTIVE PAINTWORK

Areas of defective or damaged paint shall be prepared for remedial work by:

(&) Where the deterioration of the surface is confined to chalking and erosion of the topcoat, the
surface shall be lightly cleaned, washed and dried.

(b) Where the coating is generally sound and adherent, but minor blistering and/or pinhead
rusting has occurred, to the extent of not being worse than rust grade 6-G, 1% of SSPC-VIS
2 (03% to 1% of ASTM D610) or destructive testing has occurred, then the surface shall be
scraped, wire brushed, washed and dried.

(c) Where the coating has deteriorated appreciably and has lost adhesion and visible rusting
and/or blistering has occurred, the surface shall be abrasive entrained water blast cleaned
as detailed in sub-clause TS7 (b) (i), washed and dried. If the method of preparation of the
defective or damaged surface is as set out in sub-clause TS8 (d) (i), apply one coat of MIO
pigmented undercoat followed by one coat of MIO pigmented topcoat.

(d) When the steel is to be scraped as per TS8 (d) (ii) It is important to ensure that the coating
is fully removed prior to wire brushing and a standard of SP3/PWB or SP3/SD of SSPC —-VIS
3 is achieved. Painting shall be in accordance with TS8 (a).

(e) The primer and undercoat re-paint shall overlap 25mm and the topcoat 50mm around the
boundary of the defective or damaged area.

Part 6 Specification
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



11

fea

APPENDIX | - STANDARDS

NEW ZEALAND-AUSTRALIAN STANDARDS

BSEN 20273

Fasteners. Clearance holes for bolts and screws

NZS/AS 1112

ISO metric hexagon nuts, including thin nuts, slotted nuts and castle nuts.

NZS/AS 1161

Wrenches - Ring, double head

NZS/AS 1559

Fasteners - Bolts, nuts and washers for Tower Construction

NZS/AS 1580

Paints and related materials - methods of test for

(Part 108.2.)

Dry film thickness, Paint inspection gauge

(Part 481.0.)

Coatings - Guide to assessing paint systems exposed

(Part 481.2.)

Assessment of blistering of paint films

NZS/AS 1627

Metal finishing - Preparation and pre-treatment of surfaces.

(Part 1) Degreasing of Metal Surfaces Using Solvent of Alkaline Solutions.
(Part 7) Hand tool cleaning of metal surfaces
NZS/AS 4680 Hot dipped galvanised coatings on ferrous articles

NZS/AS 2312.1:2014

Guide to the protection of iron and steel against exterior atmospheric
corrosion.

NZS/AS 4233.1 & 2

Australian/New Zealand Standard High Pressure water (hydro) jetting
systems

NZS 3404 (Part 1)

Steel Structures Standard

BS 3481

Specification for flat lifting slings.

(Part 2) Flat woven webbing lifting slings made of man-made fibre for general service
NZS/BS 5252 Colour Standards
NZS 5811 Industrial safety belts and harnesses
(Part 1) Specification for industrial safety belts and harnesses
Code of Practice for the selection, use, and maintenance of safety belts and
(Part 2) harnesses
NZS 5812 Industrial protective gloves
NZS 5827 Industrial overalls

AS/NZS 2210.1

Occupational protective footwear: Guide to selection, care and use.

FJS AS/NZS-ISO 9002

Model for quality assurance in production, installation and servicing

AS/NZS 2310:

Glossary of Paint and Painting Terms

Part 6 Specification

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers

TENDER NO: MR232/2017



12

OTHER STANDARDS

Methods of test for weight of coating on zinc-coated (Galvanised)

ASTM A90 : .
iron and steel articles

ASTM D610 Sta_mdard test method for evaluating Degree of rusting on
Painted Steel surfaces

ASTM D714 Stqndard test method for evaluating the degree of blistering of
paints.

ASTM A123 Zinc (Hot-galvanised) coatings on products fabricated from _
rolled, pressed and forged steel shapes, plates, bars and strip
Recommended practice for safeguarding against embrittlement

ASTM A143 of hot dipped galvanised structures, steel products and

procedure for detecting embrittlement

NACE No.5/SSPC-SP 12

Joint Surface Preparation Standard — Surface Preparation and
Cleaning of Steel and Other Hard Materials by High and Ultra
High-Pressure water cleaning Prior to Recoating.

Site Testing of Protective Coatings Method 3 Determination of

AS3894.3 Dry Film Thickness
Appendix C Wet film thickness by comb gauge (informative)
AS3894.4 Site Testing of Protective Coatings
Method 4: Assessment of Degree of Cure

Preparation of Steel substrates before application of paints and
ISO8501-1 . )

related products — Visual assessment of surface cleanliness
SSPC-VIS 3 Visual Standard For Power And Hand Tool Cleaned Steel

SSPC-VIS 5/NACE VIS 9

Guide and Reference Photographs for Steel Surface Prepared
by Wet Abrasive Blast Cleaning

fea

Part 6 Specification

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers

TENDER NO: MR232/2017



13

APPENDIX Il - PRINCIPAL SUPPLIED MATERIAL

(Provisional)

fea

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

Part 6 Specification



fea

APPENDIX Il - PERMITTED PRODUCTS (COATINGS)

The following paint systems have been used successfully in New Zealand and Australia

System No. 1 Primer Undercoat Topcoat

Product Supplier 1 Pack Zinc Rich MIO Vinyl MIO Vinyl

Protec Creative Coatings Camovin ACZR1 Camovin HM MIO Camovin TV MIO

Ltd

Altex Coatings Ltd. Zinkex 100 TP Vinyl Primer TP Vinyl Topcoat

System No. 2 Primer Undercoat Topcoat

Product Supplier 2 Pack Epoxy Zinc Rich MIO Vinyl MIO Vinyl

Altex Coatings Ltd. Ultra-Zinc 625 TP Vinyl Primer TP Vinyl Topcoat

System No. 3 Primer Undercoat Topcoat

Product Supplier 1 Pack Moisture Cure MIO Moisture Cure MIO Moisture Cure
Urethane Zinc Rich Urethane Urethane

PPG Protective & Marine

Coatings Wasser MC - Zinc Wasser Ferrox B Wasser Ferrox A

Notes:

e System No. 2 may be an advantage at secondary preparation stage where the primer is
tolerant of residual moisture on prepared surfaces.

e System No. 3 combines the advantage of System No. 2 and allows for product application at
relative humidity up to 99% provided weather conditions are not deteriorating. Where
painting is required to be carried out on a piecemeal basis to reduce the risk of early chloride
contamination — MCU products are the suggested preference.

Suppliers’ Technical Data and MSDS sheets must be referred to for all optional product systems.

14 Part 6 Specification

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017



15

APPENDIX IV — MATERIAL SCHEDULE

(Provisional)

fea

TENDER NAME: Rust Treatment and Refurbishment of Communication Towers
TENDER NO: MR232/2017

Part 6 Specification



fea

energising our nation

PART 7

DRAWINGS & SUPPORTING INFORMATION

TENDER NAME: Rust Treatment and Refurbishment of
Communication Towers

TENDER No.: MR232/2017

Copyright © 2013 Fiji Electricity Authority. All rights reserved.

Part 7 Drawings
TENDER NAME: Rust Treatment and Refurbishment of Communication Towers

TENDER NO: FEERINRIEZEEE \\R232/2017



fea

Part 7 Drawings
TENDER NAME: Rust Treatment And Refurbishment of 132kV Transmission Line Towers

TENDER NO: FERINRIEZEEEE \R60/2014



WAILOA

SOKIDRAU GROUND

%
K2
L2

DIRECTION OF FIRE

/’W“\

——NORTH -

WAILOCA

\

TABLE OF ANTENNA LOADS

T

ANTENNA ANTENNA ANTENNA BEARING
DIAMETER HEIGHT EOFN
WAILOA 1.2M APPROX. 23M. [ 078 Degress

BASIC TOWER
FAMILY
. }
FIJIlI ELECTRICITY AUTHORITY
DRAWN MO 13.10.2000 DRAWING NUMBER
CHECKED |R.IKXum 1811000 SITE TOWER LAYOUT Aa ] 60 ] To7 I 040
Sl¥aursman | 2L /8 /o En SOKIDRAU
APPROVED [ 5uc4ke|/8: /0. o SCALE: NTS




DIRECTION OF FIRE
a LOLOLO
N
LOLOLO
NAMOLI HOUSE
GROUND LEVEL
TABLE OF ANTENNA LOADS
ANTENNA | ANTENNA [ ANTENNA | BEARING
‘. DIAMETER l HEIGHT i EOFN
l
LOLOLO | 2.0M APPROX. l 20M. ¢ DEGREES
| ) |
| | |
| .
I
| ]
| | |
BASIC TOWER ] ‘ ‘
FAMILY ] | |
‘1 | |
| i
’ |
| \ |
FiIJl ELECTRICITY AUTHORITY
DRAWN MO 13.10.2000 DRAWING NUMBER
CHECKED | R Mumag | B:10:00 SITE TOWER LAYOUT
A4 60 TO7 041
Bl arrsman | AL 19:10:60 NAMOLI HOUSE I I l l
APPROVED |() Guc AKH/&:/0: 00 SCALE: NTS




S
S
S

I

>

(. NAKOBALEVU

DIRECTION OF FIRE

NAKOBALEVU

TABLE OF ANTENNA LOADS

ANTENNA I ANTENNA ANTENNA BEARING
DIAMETER HEIGHT EOFN
NAKOBALEVU | 2.0M APPROX. : 20M. 354 DEGREES

BASIC TOWER
FAMILY } i
|
1 |
FiJl ELECTRICITY AUTHORITY
DRAWN MO 13.10.2000 DRAWING NUMBER
CHECKED |RiumAR | Bl L SITE TOWER LAYOUT P o0 To7 042
Bl¥oursman | K247 /#1009 CENTRAL REGIONAL OFFICE
APPROVED |0 GUCAKE | /8 : /10:00 SCALE: NTS




DIRECTION OF FIRE (" oeLaKoro ~ DIRECTION OF FIRE

\ TALADRAU ; _ LOLOLO w- /" . |
_ S ‘ 4 FPASSIVE . DELAIKORO

L LCLOLO . / ,
NP | | « //:Ass;vs‘ -
(" NAKOBALEVU ' . |

\— ~ | |

—z =

—|Z.

‘///< . TALADRAU
VUDA | . LOLOLO
{DIV)

DELAIKORO (DIV) A
. - NAKOBALEVU

NAKOBALEVU (DIV)

=

.VUDA

2 L

- TABLE OF ANTENNA LCADS
ANTENNA { ANTENNA | BEARING
DIAMETER | HEIGHT £ OF N
LOLOLO 3m APP. 20m 294°

TALADRAU . - ' Lo
GROUND LEVEL . _ [ OC 3m APP. | 8m )29

- /TALADRAU TABLE OF ANTENNA LOADS
\_ (DIV]

\/

" ANTENNA - | ANTENNA | ANTENNA | BEARING ANTENNA

DIAMETER | HEIGHT E OF N

VUDA 3m APP 20m 2370 | ' —
TALADRAU 3m APP 35m 114 ' '

TALADRAU 3m APP 20m 1149

1o | DELAIKORO 36m APP.| 22m |- 48°

DELAIKORO 36m APP.| 8m 46°
oy |

PASSIVE 3m APP. 20m 58°

NAKOBALEVU |3m APP. | 15m | 133°

NAKOBALEVU |3m. APP. Sm 133°
{DIV)

LOLOLGC GROUND
LEVEL

D

‘BASIC TOWER
FAMILY '

3

BASIC TOWER )
FAMILY

+ | | ': £

FIJT_ELECTRICITY AUTHORITY |

FIJ1 ELECTRICITY AUTHORITY

ORAWN |r.MANI 125.3. 9/

IAY

E  TOWER _LAYOUT AATRED

DRAWN R.M ‘ <3,
MANs |25 3.9/ DRAWING NUMBER CHECKED ,r{\

CHECKED (31:9y SITE TOWER LAYOUT -
' Abj60 | T07 | 018 ] Al

W

Chiet A : . IV
Draughtsman] ) 1119V ) 4 | Torare e
U {tyar g otoLo SCALE = | [arrroved TALADRAU ~ [statei=—

APPROVED|




15240

1500 rar=) 1S90 1220 . 2000 1805 2810 : — 205
%
d o q 48 2) - \=2) \&) :
19 _ A Paint J:x; %% ~— N Splice: 9 Q % ?
% ] WRNE 350\ r89x 89. &5 Y MY Q'g ==
3o © 2 K 90x6 Mgy Mk 262
\:‘E.‘u\ ’ 323 %\?Eff X ¥ A.-_bN Q
ol[@ k. e
a3 A F e —— . 3
< g9 8o ¢ ) /
2|e ol Ij / /
‘- _‘I‘O-IO-/ r,-r\ — ‘\\' {—_ "i
PR \ 4
,/ 7
ln - % 8 .// :‘é
x — < “ I__—_——
il (Sl 2 % o, ’ s ! |
Sy 1/ W 08
- X
| © L ¢ I -
LY y )
Q | 0 ql | Q |
I |3 i 1] |
3 fﬂ i } '
S @ e L . B
= Y )
n “
0. = L 0y
!ﬁfmﬁzﬂ“’/ — Y 1+
S ZJea (g 7
q‘ S
. — _ \
262
SeataS 2
) ‘%“
Ladder type B —
W i
Ladder type A for 15.24m. Tower
2400 -
n ¥
Ladder type B for Body

@ cfiw @ efe

H i —
a o e e =

SENII- G Wall ) ——l——_‘ﬁ\
BZ N B.d Woll r7e.76.65/7
| 4B15.35 :° :

(N22 reqd diagonally opposite )

LIGHTNING ARRESTOR

&)

o
3

qj

1)

I

D

f ‘ PSS R
\73 @3/ 509 tog } |
{ : 0 (
: / @ KS@ ) @ }D } tag ]
i 5 ; [
2 T ECINEIE |
&) = Y ™ @) Z v |ll¢ s )¢ sl z 0 0 & g 0
Far @_\ l N l [\ N\ N l l
@ a5 LG4x5 LGd-5 |
Neor@[i HNeor + | '
| 1383 NS (51) il {D u] i
"
il @3 ﬁ;@ & @% Nk & | f
~ I .
L57:5 3 L ; = S m ELECTRICITY AUTF:
- ! O - UTHORITY
i 501 K |> 09 DRAWING MUMEER
’{‘e 75 Q (7122 83:65
0 x|
) g ¢!l Ty i
VIEW A-A - NS -,
Q; 1 > is515) klleas.3

Y ; =

e OO B6 OBS Zz~

° secree ° ¢ Pos. N2 fromi- (53] to(22)(10) o (09(19) O@@@O§3G
o

For ladders see Drg. A1-4858
, L _ Haam] V. y N
“rAW G 10 TeE PRIVATE TAN - ©.0Gs7264|ToVER BOLTb.;‘XRE To As.1553 a: f‘(!TH SPR WASI=RS]. fOf' C(omp,-,-,g plakes detall, see drg. Pscoq G C R' C P OWER g:c\n ?3 Jv:fﬁ AUSTRAL'AN TELECOMMUN'CATION FTQ%M i N//T’i'( }
CoEEm e D AST | 2 TAN. o isiasge |-AtL MATEKAL TO BE HOT 0P CAWANIED L for position of mounting bor holes, see [ B T ELECTR: i T T COMMISSION —
KO ] (e " ) .~ o - A B P . " - " e
Cpoeses | SEC: 1LOOBISTE O e s 517 s et o i sou g, Artper T AP £ A | Wonop Reinsion | 7a|MA TRANSMISSION {rp; 2 TYPE 133 RADIO TOWER e, e [
) ST TM:’_;;::;:[% DIASEC - | 0co43106d v« . 420mm - - g2 Smm - s For Body 2286m. scedrg. Al- 9850 - Hol” Revisioll |79 ) SYCNEY - A‘,,4849 A
o o e COT , 15.21458G | % - - ¢4nm . - #%mn - \for Steal defitils see drgs. Al- 1983 to Al-R2009 AI-20S0] D AMCNDMENTS DAT | DRHICKD JOB \2 7653 Superstr uctures & "15.24m. Tower
* s ™ ST [] T N|r . ) ] 1 e i " 1-1 H I ’-’!-_-T"F—"-'-'_ - ‘ " P
< - £, ‘llll|l|l!illllillll llll|IIIIIII|I||Il9||III|!IIII!III!IIII|IIII{IIII|IIII|II|IIIIII||1 IIIIII |l”||””'l|"VII“II””{l”li!l”l"”'".l tji I;II|IIII|IIII|II Iilil.||Ull!IllllullIIIII||lIl|i|I|III|r-l|III|l||||l|||ll|’!dl'l|l| I.Il||||l||lll!lll‘llI.illIIIIIH'IHIIIIﬂlllllllllllllll‘ a - 4 L S u e 1 s
4 " of "3 4t s e 721 8 9 Mfo M 2 13 14 s e 7 s o 20 2 .. 22 25 24 25 26 27 28 29 30 - - d < —e e T o e




SPLICE

B

L

Type

LLadder

22.86 m. TOWER
Body

for

1

A

Ladder Type ‘B’ for

Ladder Type

-t

35324

é
|
!
i
i
|
[
i
i
o H

o

)

40333
1
!
|
: | ‘\;’7 f
XY,
7/
[44x44x5 i
¢ 9!
o
™
!
i
|
;
4534!

LEDES -8

/
|
r

54
rdd.s

441G 35

3 95 1Gx35
. rGg.5

536

5.5

5

® )

\9|

0

(]

&) <re) o

lnvl_nx

L 3
LGAx5S S
J

[La)
@ l3 95’6‘*35‘

S S Dl S

SECT. D-D

SECT. B-B

|

~3
™
u

VIEW C-C

e

57575

e G0 DO OO -OOS
N

ELECTRICITY AUTHORITY.
DRAWING NUMBER

=X ;rY:>;7 CDCQZ: 1

TAN - Q 0657264

st fFor Laddar see dwg. Al- 4858 2B eV | AYUSTRALIAN TELECOMMUNICATION
ELECTRIC POWER[=£ posr COMMISSION

| 2 TAN 01314528

D14 SEC  1-00431086

For Body 15.24m. see dfg- Al-4849
For Body 3048m. saq dre Al-485]
. Vor stub sae drf. Al- 3859

For Steu/ detei

For position af mounting bar holes, see drusg.
Al-4848

@O

\
£ RYT
-\

17" TRANSMISSION

mt'nim

A

N
A 1WisHor Revisiol

s sea drgs. Al-11983 to Al-1200¢14 A/-12950

}

|

E" IIIII|IIIiIIIII|IIIlll||IllIII|III[|IIIIIIIIIiITITIIII|||IIIlllIIIiﬂ||IIII|IIIIIllIIIIIIIII!IIIIIW‘IIIIII'III)
4 1 2ol "al 4 " sl. g 71 8 o 1o 1

|m|uul||||||n||||||inrlmTT7‘l'|me
] fi2 113 4 1

i
1 5 16

dr Ve de ao ! 2 -

oV I5a,

2

IIIIIIIIIIII'IIHII]IIIIIH]IIIIFIW{WWE i
s 27 o8 290 30 °

SYDONEY

TYPE 133 RADIO TOWER

ST % 3683

BODY AND BASE 22-86m. Tower |A1-4850




\\Bl

type

Ladder

[G4 x64 x 5

(log G a0\

358)2 £ 8 < 10

LI0ZxI02x& .

3810

Body

type "B for

Ladder type ‘A" for 30.48 m. TOWER

Ladder

(359)2 212

Bdz059)

CH

‘K" Foce

=G
524] 2¢/Gx35l
3 €
/// I \\\
7 Y
! I
\ i
\ /
AN /
~ -
SECT. A-A

Eﬁi~m.=, R R AT iy
FIJI y
ELECTRICITY AUTHORITY
DRAWING NUMBER

sol707 |oo3]

- CRMNIRN) D v > DB TN - 1, cieli

cpic

DIA. SEC - 1-00431066

15-214586

ST,

For Steel dalsls sca dugs. AI-N983 +0Al-12009 4 Al- 12050

o em—————

7 lll|Ill|II,ll|||I|II'IIIIIIII||!'|'|[|IIII|II|||Illl|I||||||III||||||I|I||||||||||‘!l
» 4 'zl al a4 el & "7 g

I|1|IIIIIIIIIIII]IIII|I|il_||l|||||l|’l|l||lﬂl
ol o 1l

2 1

1

AMONDENT S

Fos. NS from. @ o (144, bon , mmy & B2 :;9@@
N ~— ~ —
TAN . 0-0657264 to ASISED & “-:SPR vix-iid|For Ladder see dwg- Al-4858 G C} 200 2BV | AUSTRALIAN TELECOMMUNICATION
| 2 TAN 01314528 TR eTE s ’ For position of mounting bor holes, see drwg. € —Bl T ELECTR!C POWER C-kc 6016 :,g’ COMM!SSION :
.1-002157 7o Body 2286 m. see 5. A1 4950 Al-458 'E - B I S “ & TRANSMISSION f}-; = TYPE 133 RADIO TOWER : ~
iy g A InletoP AEVisioN SYONEY BODY & BASE 30-48m. T Al-485|
¥ ) 0-48m. Tower b=

Lo & 3683

II|||I"|||||.i||||'!im|'||5|I|_|||l|||||l|l|l!“|l|
17 s e 2o 2.

IIIIIIIII|I|II‘IIII|IIIIIIIHII]IIlHﬂ]IIII‘III‘.‘_}IIII’ %
25 206 27 208 209 30 1




!
| .
5 SPLICE_
] 47
§ 53503!.:0&8 HT.S.
I \
3 36112 28210
| T
55197
1)
QU A4 x4 %
(196 ) =
z pes _
LE7x57x5 |
i
‘o N\ ! . '
o ; H
z- ‘\\ :
[ N o H
[+3] - Y i
g ]
3 \\ |
3 |
(8 FETON) y |
|3 B1Gx4S ) Z2HIC<3S
Sees Iy wozot | y f{/ e |
é
j
\ |

o)

Type A for 38.1 m. TOWER
Body

Ty pe "B” for

<\ | I 161G .Ao’

3810

“ |
8 |
. X i
N
‘32 i
. 2 |
N L
' ul Z¢IG¥? :g.
- —
. 582 E ¥ <
l \
, 1 ;
csz14 | !
| : /
o™ d — ke
’ T (241 -35)6%)
| FIJ 2416 =35
E ELECTRICITY AUTHORITY
DRAWING NUMBER
7o/ DD,
o o @ @000 - D0E 336
coe v TAN : 0-0057264  |Towee 3@,95} LRF —?-o ASISSD®  « T‘-i sp:g, vas <o) For Ladder & Rest Flatform details sea a’wgi:::gsss G C \ R POV"lFR 2;2 2?7%‘\5—‘ AUSTRALIAN TELECOMMUNiCAT'ON -; -:M o
et Co o ___z TAM - 0-1314528 A WTERA, TC BT OT P mvemEn For position of rmounking bor holes, see drwg. | F B ! ELECT IC gl chol OV [543 COMM.SS‘ON sonli /;o
Fe e £ 157 ' ° ) B PTY. ‘ v
A SEC-10021578 1 s soemm bot i 777 S nate e Bedy 30:45 o S0 oy Al- 4881 A-eBE e T {a Weroprevonn 2314 e TRANSMISSION {rp; = TYPE 33 RADIO TOWER e e =
< aocoo IDIACSEC -100431066 | L0 P, Far Body 45.72 m. sce dvy. Al-4853 » 9] [
C T e P 22 fmr - > ody see il 78| SYDNEY ; . . - A
CoT . 15214586 - geamm . - datmmo - lﬁéi’;‘:‘:ﬁ;&;ﬁ’sé‘;’@.‘,u. 1983 1o Al-12009 4 Al-120s0 | D AMEONDMENTS DAT [ DRHJCKD JOB \¢ 3653 BODY & BASE 3810 m. To.ver’ A1 4852 1

o MU NS DU N EN kot ot
!'7 II||l||||||||I|||l|i"|'|i|iil|||||| III!I||IIII| ||i||i|l|||||||||| |l'||||||| |||]|||||||l|l|l||||]"|||||||||_||||i||iITI”|||T|||||||ﬂ|||||||l||ll]||!l||HIIT”III|IIIII|||U|’|!!-|l||’|‘|l||||l||||||||||||||l|-||||||l|| ||||||| | |||I|||l|||||l||| ||||||||Ill||||ImlII[I'ﬂli‘ﬂh'llllllllllllll‘
] 4 ol ol T Vel ! el 7| a Lol Vol del ds e s de d7r s Mo 2o 2h .. 2 o ods 2s  of 728777729,-305

2 23

| — T k] Sy Pt — fr Sy 15w A G operoigt SR oo



LADDER TYPE A
(For Base only)

@ ”R.5x55 @ ‘;’mi
L76%3 ‘
q ©x28. R. 545 @ £ 7 38

% ;

l ! rof————=x
FAz = 4 '
@ A ' W} ;_E'\—:* —_—
» N
LADDER TYPE A’

(For ALTERNATIVE FOUNDATION ] @

\
3054 7636 OMLY.

192~

I_FAR cuarp 5E

[ e ) s ;
] _ 5G] hi@ ” o § -0\’_\¢_ 5 i .
" \ 5@ ii -
/‘ . ’ ks~ AT BEST g atroen LEVEL omMrr Z GUSSET IP's Pos. 5¢0 "@ )
.

P

i
I:H'
W
N
X
0
o
€
+ -
~/
— .;

oy

li iax:

SE32x5

LADDER TYPE B
(For Body only)

‘\—
\T 254
524)FAR

: | i -2 ~

L 7Gx 38 ] — ;
> . | 1”—3 6= 35 75 HoLE 3 / i/ VERT. STRIPS JOINT
[2gienzs Bdierds] - [ lesee Y ]

: —— L T T 1

I p—
@ | @ ‘fé32x5 o)

305

____50 x5
559 P (572 = @
-

’ 559) Es0xG

E 22%5

8#I0x30| | 73

LADDER TYPE C

ELECTRICITY AUTHORITY
DRAWING NUMBER

133G}

st .+

;
e e - TAN : 00657264 | A BOLTS aRE HTS COMPl;ETE WITH Spr waseRs| Fe il ez Sin 125418] FV. PLS ’ s
RewiiG 1 TeE PRIVATE : { pr was<Rs| For Ladder Bung Detail sez dug. P5752 e ~ G .
el ‘,;‘-5 :;; m: LD AUST 2 TAN.O/BI4528 |-ALL MATERIAL TO BE HOT .?IP GALVANIZED Ffor steel details see drys. A1- 1198364112009 $A/-12050 A c o : { ELECTR' C POWER Cxd, . AUSTRAL|AN TELECOMMUNlCATlON “RM 554@/ 0 573
e T Tl Ok GRt T S -8 1. Cho : v -
IR ) ff-ze”r,"r\vﬁs\r.*.NCH SEC . /-0021576 &~ indicates ¢ 10mm. bolt and $11Emm. hole. F B ﬁﬁ%ﬁ%!ﬂo‘g 19 A =1 - TRANSM'SS'ON PTY. | s s COMMISSION E;::E‘Nl(;/5 4’:&:-5 e
NN, ROTUEN TT ANy ) o ] 2 and 7 . 0 .2, La AWl NUMRLE P
B e lmg:aé“/ :r*/’:.:':nq “ DIA.SEC ./-004310G6 ; ) nC"_L'es :;gnr:\n; bo nl:):::: h<.)!e E I \fdded /"”“",/~ dovl= 40 §7, A 2Psi} SYONEY LTD. TYPE '33 RAD'Q TOWER
£ enT HESERVED - : b < : -
CoT .15 214B86 | n L . ot . - wnm 0 wrovenrs |ort | enero 5 +3¢5|LADDER_ARRANGEMENT. A1-4858 |-
PO T T L L R S T L L L e e P T e e L L e e T L AL - "
b , T B ] [P = |
] 4 A N " = o - o o do 1 de 13 da s e 17 18 Mo 20 21t -.22 23 24 25 26 27 28 29 30 * “~ o R - - b



N

A\7FN P75

AN

—_— AN 2

LIEZ7 127 x8 HTS

45495
diogonal ly (6434 )

_SPLICE

@LIOZx 102x8

@ zhaxn

N —
I:B_;;Ox55 I
I 3¢1Gx40|4534.[

— —

———.'
i
~
N
I
N

]
O
)
\é
F
Q
Q
Q
N

350

oo

400

IBOC

2200

2 off

[ 152 <76

LISZ 15210 (Com)
Nl

~

/ 2off

/

B

_SECTION A-A

AT e e R G

/
Y (402

(e

-
/

£K. 2 LEVEL

?
)
T

2485

300

250

So0 2184°

G oo

AN

Ky i3
i }V\.\wp—

-

300

CONTROL PLATE
AND SUPPCRTING|
STEEL DIMS.

40C

3005

3ca’

3557

43555

83

GO.

4628

!
elxlo|nmlioj0oo®

H 4588

H

/[ REF. DRG:

R 36585 -owmy

<

GO0

 FINL. -

500

ELECTRICITY

AUTHORITY

DRAWING NUMBER

Gco\7 o7

OOo6

;

"I[imm]ﬂllmzll?]“.”gu"m

s . I e iTa)re i~ni=<113

ALTERNATIVE  LADDER- FOUNDATION T SRR,
poc 1 - EHDEED @)+ B 336G
3 or B, dea. Al- - T HRY - o
. < THE DRIVATE TAN -0-065726L  [ower 8oLTS ARE to ASISED  WITH SPR. WASIIZRS ,érf Sfef/s:’e::';; ;e ;'918;;,-//983» e 12009 4112050 G C ‘ k’ Ek'; a3®ry | AUSTRALIAN TELECOMMUN!CAT'ON FZ%SM \\)To( \)
-~r:’rjr13'l: \Gf 392,?1&22@”‘@ 2 TAN.0-131L528 _ALL MATERIAL TO BE HOT DIP  GALVANIZED for stub- sefhlog arranjcmen!' see drq. Al- /622 ‘F - B ELECTR‘C POWER ChD. 5;,%_ COMM'SSION . 4 p—
T TANCES ) e — for Ladder sea drwg d - . AR S evy I TYPE scaLr Ll
e St L SEC IO oo st na 17 Som ot T (el T [ e s “~ TRANSMISSION o 133 RADIO TOWER DRAWNNG NOVACR
"opsTo@s o IeiRD PaPTs |DIA SEC - 100431066 LT saomm - 2t S @ Pos.r 430 TS 403 : SYDNEY 7 Stub, Concrete 'Fouqdo.t.ion. Pegging A1-4859°
RIGHTS SERVE - Y . . i . k & - ]
coT .15-214586 Q. -  @Amm . . g25mm ‘ : D , || AMENDMENTS fcko] ' bos = 7esa | FoOr 22-86m. (75-0 ) Tower 9 ]
g lIIIIIIIlIlIIIIlIIII'IIII|IIII|IIIi|IIII\iiil|!||I|IIH|IIII']|II|IIIIIIIIl||lllillll|l|ll|lll|Ii ”‘H"l" I‘HII|IIII|1III|iii Illlill'l'iTlﬂTmﬂlllilil‘llmm!]\.‘llllll IHT[I I THT{TTY LIIHIIIIZLIII II|IIII i
’n 4 2| 3 4 5 6[ 7 8 9 110 *1’1 f2 8 1l4 1S 1I6 7 11'8‘ g §




diosoncl Iy (9260.5)

|/2¢24:G<>i

3 d1cxa0
| ¢ 1Gxd45 acsz214

¢ 7G@0O

I52x 152 » 10 AT S

IS00 sgq.

/
3085

~

3GE00

400

400

1050

OSSO0

CONTROL PLATE &
SUPPORTING STEEL.

D!IMENSIONS

400

3805

1500

445

et
b_

5043

G356

GO.

GG3l

plT|@|mmiolo o>

H <5912

I
!

REF DRG: BICSS- oWy

.

ZIoO sq.
T R ;KR Levee |
1 - I
i \8 ] " -
e < ' ¥
=t e — V7S |« =T ]
’ ! = y ‘4 PN =
{ % g1 Y § 9
LISZxISZ x IO 610 l 4 | t ]
z Ol[f ’-__h _l. .é-:r:'_ L | ! 5 B ey L T
G@, C/5sz7i/f 612 lo[f £ RS e . - FIJI ; .
! LE
oFf o oo CT ?ICITY AUTHORITY
. : RAWING NUMBER
300 500
. ALTERNATIVE  LADDER FOUNDATION
SECT. A-A .
| o e DD O-OB@E  [33G)
TAN-0.0657264__frwes 8OLTS a0 fo ASISSS itk s sl /or Base see dg- AP FEE 4 G c on 9B B AUSTRALIAN TELECOMMUNICATION |75 o
e LB PTY LTD AUST i AL TO BE ue TR skee) datails See drgs. Alf983tc Atlloodé Al-12050 : oy Ckd, FROM A
ERTY £ PTYLTD AUST | 2 TAN .0.1314528 ALL MATERIAL TO BE HOT DIP CALVANIE: for shib sehing srrangement sec dy. Ak 1622 |F B SV ELECTRIC POWER &3] COMMISSION ——
ORI < . a divee: - 2 it . = — :
2 ;‘.‘FNG(;%MQTANCES SEC .1.0021576 o marres gtomm bot o 57 5 hote or Lagder sde dvef A-4858 , el ——— N i T 3 et TRANSM'SS&ON:;;QEE . TYPE 133 RADIO TOWER DRAWING NUMBER
r«Gc-qT,:,H'gSSfri?{\?g(I)ES DIA.SEC -1 00[’31066 je g . 220mm - " 221 5mm s L2z i ) SYDNEY a ‘ Sﬂb, Concre'e Folunuda "on’ a Pqu'nq A1-486|
COT .15.214585 Q. - pdnm . . g2%mm ﬁ_ D 4 - AMENDMENTS CKD JOB ¥ 3653 For 38.10m.(125°0") Tower
R TIIIT ﬂmﬂl!]"lm LT T e D CR A e T R T T T MG T e AT Ao Iy IIII|H|T!IH ‘
[, | I 1‘ | 2| |3| I 4' | 5] - l Gl I 7| | 8] l 9’ I 1|0 I‘IL I 1[2 I 1]3 I 1]4 I 1r|5 I 1'6 l 1‘7 l JBI 1L !2|0 ! 2[1 I 2|2 I ZL I 2[5 I ZL ' 2]7 l ZL"] 29/!_\3. }




------------------------------------ . ; , .
BT o R RN ’ 4 ’ E
e ‘ -
880 . 880 880 . 880 880 760 g‘i—i
<ti—
| 42-8—0—T S
339)B Godesxs < r 216, 35) 0 — , m;’r_,__ 369
BNBx4WALL. ST 77 T l?gﬂié ™ flelexi0] §-Uslexdo, ~ -
=—eo—+4— RN B3 59l
: /
46'6;:35 u 359 @
l
8 \ ‘ fr=eh) \ ® ’ . 2L FRE
o .
| 1590 2 : / m$
.x : Nz,
1 [lol6x 35] l916-40 P [lsle40] L57>< 6-5H. !
H
“L o @
351) FAR
FAR . L .
w - K L64x 5. . (uo3 L64 x 5.
VIEW. AA
E ‘ ] .
—1] L}
/ Gs)Y ‘ '
357)FAR ? lo16x4)
. « o B [+16x35 = ==
POS (333) 2 Reqd on diagonally > ) . oS 216x35 ‘ ——— 5
opposite corner members. o 3 r89 x 6~ H »
& 16x S— =
406l6x35 fol6y4o = © 7
M R — /
376 l
= ; // i} / ) 7 FACE
> / \ ‘ y
N
’ ~
/ / @ : -
‘ (] g
Va §
T~ /
[4ei6:35) ] = ‘
g S [o.35] [fgexaq] o3 89 65H
i QO ' [lsicx40) - ; — _
“ > . ol I‘¢\6x35| Is16x40 | ererd] —e —660
. 5 - | ' Q 43
® 430__|. 320 | 700 200 S
650 700 850 | 900 1085 i ‘_‘,{ 2105
A : > FAR - p -
‘ . ~ ‘L76x5 O/\ "+ (391)189x6° a
@ L64x 5 (bo5) Lot x -
{.
4 S =g
’ 2416x 35! 2463
y 4 388 .
— : & &9
! LADDER SPLICE 2 55 x5.
corner Gl6x35 s
' X/ | FIJI
w_| : . |K : K - g ;- ELECTRICITY AUTHORITY
‘ FHOOXB' Ladde, E - DRAWING NUMBER
1 N adder
\ Stringers. 60 7 O 7 008
389 L64x 5.
SECT. CC .
SECT. DD L 4
.. SECT B-8'
! J Y , "
Y " : — _____]
i{t ( égG :
§ NOS - V57 363} to 365 368)to to L .
- ) - e 3 478 £ P S D
TS SRAWING i€ THE PRIVATE TAN - — Tower BOLTS ARE ks AS (559 with Springwasisrs~All members, not mecmed are L4k x5, G N ‘ 1 ELECTR'C POWER m A AUSTR‘\L'AN“‘TEU:COMMUN|CAT|ON F;%SM ,%/JTO X/.
R Or ot donesr | 2 TAN.  — _ALL MATERIAL TO BE HOT PP GALVANIZED -For Ladder Rung detail see. dwg P-5752, E Bl 1 N o ‘ COMMISSION Tt TE NS
LS l]—!-‘fuT 2 =1 - : Ry - - : ) T\ TS,
AULZrm 16Y CIRCUMSTANCES SEC .1-0009366 - « 10mm.+ . dNUSmm » fé ""’f 2z 36”'4 See ‘/’.7 AV dé76 - ey ” TRANSM'SS'ON Al TYPE . 139 'RADIO TOWER SR o T
BE SHIOWN ¢ R AVEN TO Aty © . naicctes ¢i6mm bot and #17 Smm. hole hed 5"’[’5 see drg.' D- 2248 - E Al By, LTD e PEF SUPERS| RUCTURE ] |
COMPE HITORS R :IMRD PARTILS DIA.SEC . 10018723 e gl ¢20mm - © 2 %mm. - for delals sce djs A //227/044/'//239/ AZ- 20/¢ — 4 8o e SYON‘Y }71. hd \.' % Qﬂd A1—4677
AL LEGAL RIGHTS RESERVED T .231 Q- d24mm. - . @26 gm D 1 " AMENDMENTS DAT [ LRHICKDY  » .« T Jn'zNﬂ 3633 15:29m. (50{9_:', BASE
’ T |||||||||||||u||mm|||u||]||u||||||||||||||||m||||||,muuuununuu|||1|I 'II|I|IIII|II'I|IIII|Il|'|||[ T L Ly ey m||mun|un||m|u|"—||| "|" n|u||||||lpm|||||||m|un|un| : e — —



R

_ T T T T e ey AT R I R oMk S Y P T qUEAT T TR e o o SIS S A . .
i,
/
1’ ?
. {
2105 . 1800 1900 1950 300 ,
l"‘? < ~
W Cr D - [ee) ¢
5 E ~ 3 2 5
e | ( ~
g o)
@
(21]
5 |al6x 35 ' |l¢16;45]
S < lo16x45 - 276 ; :
@ & & 16240 O . 7
Qe T e 7
Te]
w x
& 3
8 @ SPLICE W A
342
— 200N ‘ 89« 65H,
B 341
20l6x35
> ‘ 2090 x 8
(283) 260 x 15
Z575:55]
i 276) L102 »x 16 H ELECTRICITY AUTHORITY
" OH DRAWING NUMBER
Ll £
1 °7
o] = [lelé-40]
Q @ Ol 8 T 317
o Vli” / 323 =
| e |
— S 319
P tog
16x 45 i GR 300
] 331 FEEI SN @ il il
y ———— e — ,
LADDER SPLICE ‘ 2R/55x5
o) | — e g = —
2616x3E )
il (e7)ag il
102 . .
16 off EPT.
m . 5 ; Supply PT.
r76 x5 ﬁ‘ L76 x102x 6 ' J-bolts & Clamping plates J— L] N S s __.L
- — “-d? lé16x 35 @ \,\
< l 7 TN L 5
373)51x 76 x 5 /' M3 < _ [ tag [
pr=s) I \ME g |
335 : 336 @ /+ 39 b 216235 = I =
w 76 / Ll lol6x45 ’ 259 FAR ) . FAr : .
: N - x ”n 6616x40 L64x5 L64 x5
V N . ~ "":ﬂ . 257) Near @ NEAR
#' - 76 x5 | _._é == 2 2 2 © © ' 7
@ , 267)5Puce ¥
\ (9resx8 (30658 Gagres~a (28658, 2 o5xss LADDER
, - ‘ : = AR — (FOR ALTERNATIVE FOUNDATION -ONLY.)
NS | M I ' @ .
; [4s16:35) [Zolex35) - [2siex33] |2¢|<§3—5|1 ) [2416x25] 418 [216x35) L6Lx 5
g’ . € O roY o JL:O_*_
2016x35 2516x35
k506 (410) o)

\ @stz <5

=

UPPER PART | = — , :
SEC__1-0009365 | | | P @@knxs  Boygl (“3z2ns 5e10:30 @ 1
DIA SEC 10018723 o - ] i ﬂf | POS NGS 600 to @ @ SeMto @ to @@ ’(@ o @ @ Do @ 1.399—4

cor 231 LOWER PART o A «
L e PRI TAN: o= [Bwersours sre fo AS 1559 with Springinsi:zrs] ~All members not specified are L44x 5, G ‘ c : - = #BA | AUSTRALIAN  TELECOMMUNICATION '; ?M ‘,TC 3
oy ﬁgagfv-cf:@“” 2 TAN: — -ALL MATER.~c TO BE BT DIP GALVANIZED 'ﬁo" Bl;?ldder Rung detail see dwg P- 5752 £ g A ELECTR’L POWER s COMMISSION ' .
T AR L PR T ' > for 5-24 . Ste drg. Al 4677 ’ A SCALE 1S
= HDER 0 CIRCUMSTANCES L1 - ® 12 . . 13 . X 7 A g A e Bl . ) - — : —
e © s i s )7 ok i e M 1} e I LRANSMISSION {3 TYPE {39 RADIO TOWER VY
CORA G T D ", iR PARTIE . -1 : . A . . R . i «©€ Q g - - LT ' 67 AboeD- vl B sl *
L EnA mneTl RESERVED I 920mm 221 Hmm “ For detait rac. Al ] . SYDNEY -
” j cOT .18413099041f - - 610mm - - p115am WIS see drge. At-w227 to Al ”3384#?°/4 {01 . e , _ AMONDMENTS | DAT | PRIfCKD : NE JOBNQ32'753 BODY & BASE 22.86m.(75-0") A1 4678 A
f) 'II|IIIIII‘IiillImIIIIIIHIIIIIIIIIIII|I|I||||IIIiII|||||l‘llll'|||||II|!|II'IlllllllllllliIIilllIIIIIIIIIIV !IIilIIIIIIIII|I|‘II|III!|IIIIIIIII IIIFIIII IIIIIFIIIIIIIII IIlUIIl'lIIIlII'IIHIH!IIIHIIIIIIHIII'IIIIIIIII TI-ITHI IIII'IIIIlIIIIiIIIIIiIIIIIIIII!IIIIIIilllllllIIIIIIII‘IIIIIIIH’ . «
: 1 2l "3 "4 "8 e 71 & "9 o diz 43 da ds dle v e o 2o 2h . 22 23 24 a5 28 27 28 29 _ 30 ot



SPLICE W - R o ‘ : N SPLICEX,
281) F83x 65H ' o , | _, - 284) [i02x 8.
262) 2/ 90« 8. » i | o | 285) 28 110x8. ;
B P e o~ . . {1
- W 283) 2R 60 x 12 X q —%:X 12620,5 .
| L ~
S . 0
K" FACE ONLY /2;§ r x
2373 | : { Beicxd5) (214 [oisas) @FAR 1 S
216x45 " Soioxd! rsix 5 1516445 30482 PR
: = ] ‘ [ of § 3
| =g ; xs olecte] |
fES50x 6, A FAR @ 4 €0
@ ; 215 216
/\ Ny -
4 | . [lol6%35 g . Ll 52
o016 220 z - It PR
2 x X B®
o1l E 8 tn
. X
L~ 2 17-%mm holes @:AR 3
= ! for ear*‘hima _J
gl 416 v .
91\\ 31983 ' 5 v
ut . 2R
q - 3 | A®
400 & IS
@ [Zox35) &' 32x5. - ' 7 ——
2590-% BASE 100
. <>H] . 5 é%
L4 )32 x5, (FOR ALTERNATIVE ~
e \ FOUNDATION ~ONLY') ~
© _ FBSXS -
x —
8 N Feits =)
[
+8 1 E55x5
S o7 = 77
~ . LADDER SPLICE 400)1KE55x 5
Q. _——— A .
63'\+<0 : Ga|6x35
< : . 6016x33)
209
/ 74 ’
[206:35]
[Te]
iy —————— X
, ' @ LD
= (G
. 2016%35 5’“‘“—_"—“‘ — »
@) : 5«:5)‘30
| \ 312)65x8
;
e ; » .
~
A N> @ e
\ '(.
x"'{ 211 < @ ‘ 3
ELECTRICITY AUTHORITY 3 ™
@r{szxs DRAWING NUMBER i
. " 1 :
Wi [Ze16x35] o7
Q = S ‘. | | .
2 —U_ @EGSxS o I O 0 WSt .
3046 V4 |
: - 10
'&lGx?:S (.LY ! . ‘ . ) : ) : .
S10x30 .
Z= = | 69 @))€ @@ 5. Zon!
. . N ) = hd l
n . =0 GOOHE-BO0 BBE, OO 396
b6 mrpw el 16 TiaE v TAN - - Tower BOLTS 4RE ko AS 1559 with Spring wsicrs| —All members not specified are L44x 5. ] ’ ‘ Drn [HEBIF. ELECOMMUﬁQCATEON N
TS TRAWING Y TrE PRIVATE 1 ~>pring , G C ’ AUSTRAL'AN T \ PR
.,Q,\r..-s;pTid.r,; LPT PTY LTD AUST 2 TAN - — _ALL MATERIAL TO 3E HOT DIP GALVANIZED -;Eor BLoSde; ZF\;ZQ detail dsec::; dwg P 5752 ] . A L ELECTR'C pOWER f‘;k‘f, _ COMMISSION x-FeFM ,,5
AN ‘.HHH&,“’T«T T:;if,!i? CONS'F'IT_ S— ~ fFer ody: . see dry. - £678 “+F ) . - = Al - . SCAlE . 7
e B MR TINES SEC - 100151984 ‘j ) ¢¢12"‘T - .¢T1‘115rmml “For Body 38.10m. see drg. At- 4680 . o | Pos E 29, 2t pacy | {EeT] IR TRANSM!S‘S!ON z{-; 2R TYPE 132 RADIO TOWER. DRAWNG NUNMHLE 2]
C‘E-)h:péyﬁmgrj r:E,.,“Qrwr‘{;\r_‘\r;r_g DIA SEC . 1.00303737 ‘ndrcles mm Dol She i hote - For .S*(lb - s2e d’:7 -AJ- 466'3 = ' .. ) . A & 27 1A‘DDED~ , '5'7’ AJ ﬂ H LR & V |
Z, - . - : o_ - p20mm - - g2 fem - - For cletailt drgs. A1-227 10 A 1238 4 A2 -2014 | —— - .. S(DNEY , : o -
faL EOAL RIGHTS RESERVE? COT . 183099041 | n. - oaamm - - g2emn - A see o AvzEeACIES D _ avaxoments ot | perifexo] —L_1L_1Booy & BASE 30.48m.(100-0") |Al 46?91A
([ g ||I|||IIITTi|IlllII“I'IIIIIIIIlllllllll|llllﬂﬂlllTTITII'IIII TTIIIII,III"III,IIIIIIUI'II]I,HHITHT,IITIIII l ||||i|'|"lml'|m mTle'lnulilnlnnlnl“Tl l l||||n||u|' i " : “
t sl 7 22 2 27 8o . - ' N o e e 55 ot . . i £ Ol 3 1 e et s




e

222

727
[eZx30] (306)L57x S[lei2x30] /77

V4

14

"38 x5

W

<) L 0 %
X
x[ Q 3 (\+/ ST)
< 8 EQ /2
wl N ) I'\‘b =
C:__’) \3\\ B —kr + — (.D < [Yx
5 Q)@: 223/ Gy o \ - 2
@ r38"5 g ¢ ]
/ 138x5 |
| > 5 @)
g — &
I .
X
. o :
. O .
< -
> o . — , 0
; -|¢16x45 L 9—‘
| | ~ 'Y” [lelexdd) g
7~ 4
/
@ @ o) I ¥
e S . ® o 9 = @
8 S ‘ & ™ . 5 ' 3 Q
14532 1453 152 1524 1524 1524 00 |
& — - = 5 $ —&- a = Jl_; —

»/mLBL " sovee @ aeAe

ZIES 55 @ . 'L.6lo x5
- /7 FAR b5 FAR.,
( : L57x 5 LADDER

[/FOR ALTERMATIVE FOUNDATION - ONLY )

(3R
FAR + . \W/ ' +
@ & 3 @5 -
@ 2Tve 2elen39)] [2el6+35) 1 alon35 423)164x S 216435 ]
£ = A 5 G- 5 C ot
. P U ide of tp - . Zo16%3 ﬁ 2616x35] .
e 410 I Li)se on side of rest platform i ¢ 506, [2s16x35 | !l@ @ )
{ @p3zxs. ' 1 @ .
i S -
161040 — :
@._ 0.0 5 || @ s
l(ik;}! == S ;r
@ fATA . @f{32x S
(22 . :
> (2 LADDER _SPLICE @ 2H55x5,
7:-__ S— 32___ _E'
1|
i—?;—l—GxEs‘S! @@ 102 x 76 6'5 g} |Zd>§6x35'| [57x5 @ rIMGxBS i l .
- e ———o— o 6@ i@ R e ey |
, ; [oi2.30] | o o l FIJi f
75 .
: i s N Wile & @ | EL .
| = < 0 x ) I, 4 , ELECTRICITY AUTHORITY }
@ . K < x | 5 bk ""l i DRAWING NUMBER
X [0} i 3 0 :1
8 = o | = W l .
s * : 31 o 2 Pele” 0|7071577
I @ L107x 76 x 65 g - (&) <3 ; 298 J — ,
[616% 35 — e = === — e & i ST T R,
llakex35) l ! ! é— | e [Gezo) @Lg;xg fezxs0]  [lelex35] R : [fei6x35)
' Supply 10off EPT | | &3 SECT C-C '
. ' J-bolts & clamping plates.
= @ R i 0@ @EOEEOE -y
l k \ s N N / . N, :
@ | - w1 Do BOBBE DO, O - 0EE BIG!
s CRAWING 1S TH AT TAN - — Tower BOLTS ARE *o AS I ing wasicrshFor Ladder Rung detail see dwg P-5752 ' i ' ; ) ) Drn 8B £V 1 - PGS 7T
Tey, TRAWING 1€ THE PRIVATE ‘ 559 with Sprin g ¢ g . G C COMMUNICATION g TC ;
PROPERTY SF LPT PTY TD AUST | 9 TAN. - _ALL MATERIAL TO BE HQOT oip GAFL_,VArzZFﬁ “for. Body 30.98m. see drgd679 : !\ L. FLECTRIC POWER | AUSTRALIAN T‘EL.E ? . g SROM
i A S, < Tooieeer oo : For:Body 45,720 s¥ o5 AL468I” F B | AN ‘ B . COMMISSION SCALE_ 1S
a5 e R e o et 0 s SO ot o A e oo sfubSeq dig A fEse Mo N A o W - TRANSMISSION rp; 22 TYPE 139 RADIO TOWER DRAWING RUWACH JELs
COMPE TTTORS 707 f""'Ré’Spgf;’D"ig DIA.SEC . 100303737 | .~ . " .. . . “for deidihs “see ory. 417E27 15 ArN23s § A2 2014 267 Avoca: I a9 (A R SYONEY AL - —— A‘
5L LEGAT RIGHTS RESERVE 2Cmm = - PR s I , _ - : ”
el e COT .16-13099041{ ©- - #0mm . $115am : » D g . _AMENDMENTS - JDAT | DRH[CKL| L ‘ |08 F 3653 BODY & BASE 38. |0_I"h.(|23 ~0 ) f 4680 A
. ) !‘, 7‘]]I'!~||IVHI]I||IIIIAITEITI'I‘liif"li}'illl/llilllrlIIF|ﬁli|>II‘i||'|]'|i||'ii|lfilllll‘|HIIII]'”'IH .ill|||i”|lIHIIllll_lllllllIlll'llllllm'lllllllI'Ill il{llll] llllllllilllllrlll ||||||U||||||l|”|‘||||I|liII|IIIIIIiIIILIIrlll-iTl-lllllllllllII|I|I|IIIIIIII ||!||IIIIIIIiilﬂIrllllll!Ilillllllll'llllllllll B : ’ L = a , ‘\ o //”
T3 4 Ve el T sl el A el Tel ol e s daldlsdeldlz e Mo oo 2 2k 2s Zle 25 de 27 2 ;249)“3!0 i : e e B N e et ,



Boetl “K FACE" _

Asl6x35] )88

L)
] ]
o % [z
X (]
Ngl\é
| S| & &3
UJL.NN*‘
Q
l o ©
Tl (B & | D
Al \NANAN

Paaany
P 1] .
M S ——— ER—\ -
[2¢lexdo] 280) L127 x 10H. |
l!'t ‘ g
% @ ' Te} \
& ER " 3 , | &
~ ~ ) ) - ; .
1905 = 1905 ~ 1905 1905 300 |
2 ‘ l ) k : : T (2¢3) Nene 2RS5 %55 @NEAA
; : } : . L64 x5
5 $ & r— : : : : — % %—— - —
W » .
LADDER SPLICE (0055 x 5 ‘ LADDER ' N
3 [ For ALTERNATIVE FOUNDATION ~ont )
FAR

431

131)PR | - - & .
@ . ' ' , 292\r57 x5, .
FAR ) : ' : ' .

['244I6x35| ; ' @@LGLX 5 o ; _|2¢6x35 i ’ . . ‘ : ,

9 = - ‘ —o— , ==

| o ol : : ‘ e 2616x35 ' :
(10 )#50x6. [ees22)] N - @

’@wxs | @n)szes 1@ | @es2xs X o -

h’"{ - r?'c’: -

T Li 417 ' [lostoxad] >@Ft32 x 5. - [5e10x30] - |l [serox30 4 _ ELECTRICITY AUTHORITY
L e — : ~ ﬂ ; g DRAWING NUMBER

- ’ : : ‘ * : S ‘ j

A 7 @ ' | | s 60 7o7V\0/7

0 @Q.@(—‘j
POSNOS‘to@‘.to@@@ @.@O 9G

:
==
1\—

—Tr PCS -
THiS DRAWING IS THE PRIVATE TAN - — TowerBOLTS ARE to  AS 1559yih Spring wasters|~ Alt members not specnfled are L4L x 5. G C gi:r; nE AUSTRALIAN TELECOMMUMCAT'ON FROM \j \
PROPERTY OF EPT PTYLTO AUST | 2 TaAN. _ALL MATEKIAL TO BE HOT DIP GALVANIZED ~flfor Ladder- Rung detail see dwg P-5752- 15 - B — - . ELECTR'C POWER cnd] ] ‘ COMMISSION A 115
YHOUT THELIR CORMSE! - or + Bady :.38./6 ol 1 - i L . _ - —_ ‘ . : -
SV "ifben o Ciacuustances | sec 1001598, _| -+ 4f0mm, . #T5mm, - oy S 2, e T TP s o Lo B - TRANSM»SSION Lio. e TYPE 139 RADIO TOWER BRAWING NuMRER [
% ‘ndicet } an m le] 4 4 2 1AL . L AN S . -, g . .
?35”»'5."(?0% or niRrD PARTIES  |DIA.SEC . 1-00303737 ;: geces Zzo":;:n . g o “For delsls  see dngs! 4/-//227 oA 12384 A2-201 |E _ v 26¢ 267 Apoco x ”“ A S\'ONEY ~ ASE 45.72m. (150'-0") Al-468i |A|
AL LEGAL "RIGHTS RESERVED COT .18-13099041 | n- +  #24mm . . g26mm - o 1D » 1 | avewoments o JoaT O kD : OBIB 3655 B ,<4..“" m. {19V = ‘ ‘ ;
- : g ‘|’I!II|H!||IIl|‘|I'ITI'|'I||li|||||l||l||l|l|||||||I|'I||||||||>||||||||||||||l||||||l||] ||1||| ||l|l||l||||||||l|!|||||||l|||||||| lﬁlll llllllll ||I'||||I| |||’!I||!II||||||IIII.III|||||IHI|IIIIIIIIIIIIIIIIHI Hllllllllllllll |I|IH|I||I IIIIIllllllllllllllllllllllll ||||||I||l / B ' T - \
B 4 of a3l a4 51 6 1l2 WA 1 1 18 ’ /- K _ 5 . r» B ‘ { j




. ON FACE = 2438 \
DIAGONALLY = 3448 ‘ /
3 |

o . . i , N
e SPLICE w' 189 x 5.5 HT o
] | Y28 71 20 x 8 ‘ : ’ /
¥ (609):50 x 3x 200 928 7/ cox 15 | | |
) 2373 ; o '

/337

STUE: L}27 x 127 x 8 HT —~&

g\
=

GROUND LEVEL TS
B 7 =T
x 4 |
S - Tower centre e A
Dra. 450
1% 450 |
{ | ,
_[300 x /1309 _
» g §
. (- 8 \
: N
] /
Letg. ,‘ f S
_ 8 %
Il ~
o
/ L\D l N (
AncHorAGE  cLEATS : 7{6o]) /NSIDE 8 :
'\b V . ~
JG) oursie : | e
. K ~SroE,
8
v 257
: ! | 258 ,
<% £xcava7li0/7 [ ' j ‘ ] . .
4 /o0 x [oo0 J ’ - Iee
: ' — ' f — 4
, Q K.P. Levet . . ) 8
Lo e @ . M
~
g
b4 o
N, N
. ] ] , £&GRoUND LEVEL;
—w;m,;f ‘z;// % A
CONTROL PLATE & : ;- p
SUPPORTING STEEL @
. ‘ % 1 F
b DIMENSIONS. sl | N S o
. £ A 400 2 b ke NI
B 2748 - '
; ; .
c 208 oo : : P . _ : ELECTRICITY AUTHORITY
D /1277 : 300 | 546 : ~ DRAWING NUMBER
E 2226. 1 60 0 G
F 7 . ALTERNATIVE _LADDER FOUNDATION
G 7l w : o . | o ’ X .
H 2493 : o _ T R |
REr. DoG: 53é55 sy e R ‘ ‘ - ) : - o ' ) Tower BASE REF. DWG— Al-4678 396
HE PRIVA TAN-  — -Tower Bouts To AS ISSS wiTH SPRG WisHERY*For delails see ‘/j '4“’337 DY Y P Y : - : T . N AUSTRA' IAN TELECOMMUNICATION |Fres ™ />
THIS DRAWING 1S THE PRIVATE G ] . C ) 3 ) ) . —f— 10
epeane oF gt o o st | 2 an. | A e 1o o vor o qarmp [ SHb ey Ardgement s dy. A1 izz I » — - L. ELECTRIC POWERp: 'COMMISSION. . fRoM
AND W THOUT  THOR COMSERT a— ; F B Loy . ‘ \ sC fad .
atj:‘ohwi/;\? EfRHG(;'FC\I:R?gM?xTiNCES SEC - /.00ISI1984 J 7175 | JiS P - N Mra,;;{‘}g uw,e; T 7% * _Mk' TRANSM%SS%ON t;; Aool - TYPE 139 RAD!O TOWER.' DQZI‘.:!NG ﬁ.vﬂgsr Y
Cewierimoes R0 s DIA SEC . /00308737 | £ " D POt S T e E Aleovngis pesp - | ‘ . i Stub, Concrete foundation & Pegging. ]
AL LEGAL RIGHTS RESERVED . #20mm 921 Smm . : , 1 . - I G 1= SYDNE* L SE 22-86 (75 o ) A1”4682 A
COT ./8./1309%04/| @ . - e2mm - . 25mm - L SR o 10 i oo FIOB N 3653 BA m A .
g IIIIIIlllllll“'[IHIIHIIIIIIIIIIIIII'.[pllll?:ii]ﬂllli!llllIllyillllllllllllllllIllill‘II|III|l||IIIIIIIII{IIIIIIIHPI||||ﬂ|||l|! Ir"llll Ihl"IIIITIﬂIKI{IIII II|IIIUIIH“IIII]IIIIIIIHII]IIIlIIIIIH]IIIIII IIIIIIIII IIl|IluLllIllIlllll;llIllLl'llllIIIIL e S S ] P
TE 1 al "a 8§ "6 71 8 o ' 1 1|4 15 16 7 20 a2 - 22 zl L S e . A

9



On FACE = 4jog
DIAGOAALLY = 5804 . }\
3]
/-S'F’L cE Y L /02): & ) \
s @) |
%’. Fliox8
, (608)150 x 3x200. ?@ Pl 70%1.5
i . /—m e
STUE: L127 x/27 x 10 HT 4039. - " S
N N
ROUND L ® :
SHES/5Y)
1
g
3 Tower cent 2g.
/- ézf'refz L . e
D/CI 535 ) ¥ -
500 x 1500 I : 7 '
9)3 ) ’_//’J
0 ; ‘ .
m! i g
; § yd ‘ ‘<
| .,
E ,/, T !
: | <
4
? N z_/ N . 8
e g‘; Q N N
O
, by N - p
-I. /! -
I 127 x 76 x6-° / i |
AMCHORAGE  (LEATS INSIDE X :
e cenrs /@) § _
[Fézoxsd ~ Yeodoursice ‘= |1 | -
R ‘\:5 l_ ) A ”:?:-;/Dé o
s Q! 7
) |
/ DAY, +
I A [ * .
{ | _
‘ ! & Excavation
H |
-f‘ /900 x /%90c [ ' -
) I ] - pKPLeve @
37/ R o
3 |
N | ,
Er7 T 4'/ _ /' - N\ - £ <s RouuD LEVEL,
. s b 2 >
CONTROL PLATE & ’ y HRE 7
3 , )
SUPPORTING STEEL 3 . @
DIMENSIONS. 9 s e L =l e e —
A 320 Boal nis e _'I FIJX 5
B | 3248 ELECTRICITY AUTHORITY -
. C 1 333 300 sS40 DRAWING NUMBER é
D 95 300 540 ' ' .
E 3900 .} 60]7‘07 Clé
T F |7 ' ' S
_‘_WE_W,,_. ALTERNATIVE LADDER FoOUNDATION = L SR—
G 7/ B
H 4159
H-AH 4126
iREF DRG: B 3655 - omly Tower BASE REF. DW'5 - Al-4680 396
. -, ., e
. e TAN:  — -Tower Bats To AS 1559 WITH SPRG msuszs:’ :'::2'/-":;2 /Jj Al- 1227 fo A 1238 f A2- 208 "1 c 1o em fv 1 AUSTRALIAN TELEZOMMUNICATION ?&M e
T T s ene o s RSk selkng Arangemen st oy, Arkee | R =5 ELECTRIC POWERR: COMMIS!ION. e
N , < i > e : A ’
0 SEC - Joolsivad € - mrcres gtham Sot e, p TR s, L0 L v > E ’ ;”Mwm»/‘w“ ‘ """'-’“'““;1,4/“-")53'—7-9l 'V‘": TRANSM'SS|ON t\tz £ TYPE 139 RADIO lOWER CRANING NudaLs B
¢ OASEC . /00303737 | .~ " L e ‘ mone a0 B Y el 7% B " SYONEY Stub, Concrete founqguhon & Pegging. Al :
' COT . /B 1309904/ R D - aacnovENTE . |oar]orafexo]. TR EITE BASE 38-10m (i25'-0' ) 4684 |
‘ . Ay T T ST nﬂThnllllfﬁTlT— T T e T I I ”mﬂlm T
; i P II'IiL';lPI Wl'l'i!&'lgI'L'I'I'JJII"'L?
- o g S ~ o o »-e* o =




. | B
i
o
3
&
. .
L
£
o
R
=
‘ 3
g i
: a o Vi 3
§ ANEEZANEY W P AAN [N,
8. TSN~z VARVARVARV/ V4 N
R T A R | .
b c \ ]
A R 0 B Q
o 0 g , A A
; i N
R
| A
i i ) ¢ : P
ieso a0 xavzacl ‘ 80 pecesd |7 78] 25| lced zios | 800 | is00 10 | 910 | 2o22| 2o 2o 308 3248 280 I s
R -l -- = - aRCTEL &Y S 1o
 7eos 240 7S20 B 705119 |l o o2 7220
- . L ‘ 9
o 8 ~ Y = ¢
D> Dy S | ; ¥ >
| N |
" i |
1383 1 >
\ A J\ A _ A N
Y = Y Y ? Y Y
Al- 7624 A1-7625 A1-7626 Al-7627 ' Al-7628
e
" .
- - N ! o g | - N
Parel N Twlo[<[alo]no]o]o[z[a[sla[s]e]e] ¢ [g [ a a8 ][9] & | & | & [ &8]&!s]|n
i H —_— H e e e re———
Wind Pressure (P 2 A 2.4 2 a7 2. 188 2.04 “ 2.04
R 42z .G : 0.0 .25 o2 12,08 |
Fady = Fox = force for dioq‘ vpv:-rc:dE&Jre (kN) 7. 2 ) o- ) ! - . .._........, ,N_._-_'____,.,, e
Fr - force for norm wing
T g e ) 0.0 =5 4.3 4.6 12.4 7.8 L SN
Totol areo = Ea. = | 75 O, 163H - - L 4 %
=T Gad) 3.7 .41 & N7 @ & .52 ava | ‘ =y 5
Exposed orea of ore foce : :
-Ea () 1A% 27 2.74 = S Nt 4.\ 3 FEA DRG 60 - 707-0/5.
. ot 7 7 Bes 483 LY .
< 6 < o TN -y ‘ c ' ; TS
:@:E%WEF £ Jaﬁ,,"%“}fjsx ? TAN= ; i_ . : ‘ - ~ ‘%:‘L ELECTRJC POWER tg.s;:{y %ﬁ Acictralices Jalsc ~m
ND WITHOUT THEIR © i<t i _ - 0, ) P = Erolicirm ialaco
j’\igiﬂ r::J UCRCSEQ‘.TAK%IZEES; sl.»}?o‘ SEC= = HOCATES FLANGE PROJECTS FROM PLANE F 8 L ~ /R TRANSM'SS‘ON L;g e
B e P — UTES FLAGE ROECTS INTD LA | : ] > | ' - Tume. ‘liS
RESZRVED ' Dia SEC= [~ nocates FLance UP py e i trmree B  SYDNEY Tower  Tupe 142
coT= ok | INDCATES FLANGE DOWN. 5 D : AT IDRN)C o ' e doer | 0




§
SO . DIRECTION GF FIRE
A- | NAVUTU &
N ‘:\ | 4 ""‘\
I \ \
[' -_ ~ LOLGOLO
*/’
[ i
/ ~
i ’\\\
/ N
~,
/ | Ny
- / NAUSOR!
LUA . (FUTURE!
(FUTURE)
TAB OF ANTENNA LOADS
ANTENN ANTENNA | ANTENNA | BEARING
[ . ~EN A DIAMETER | HEIGHT £ CF N
L NAVUTU 2m APP 20m 356°
N
ﬁi/\\\ VUDA GROUND LOLOLO 3m APP 20m 57°
jx<:; LEVEL
BASIC TOWER ’
EAMILY
| sy ?LEfTRH: AUTHORITY
DRAWN | Giomns 125-3-91  NUMBER
T \q\ ; ~ b'TE TOWER LAYOUT - DRAWING .\MHBN
el 7 Y AL]60 [T07 T016
Draughtsmar 5#‘/ 9’// VUDA RAD’O STAT,ON ) :
approveD] A |lo gt SCALE:

NAVUTU GROUND
LEVEL

FAMILY

DIRECTION GF FIRE

g

VUDA RADIO

BASIC TOWER

TABLE OF ANT ?\é%\A LOADS
INA ANTENNA | ANTENNA | BEARING
ANTENNA DIAMETER | HEIGHT E OF N
VUDA 2m APP 1Sm 176°

ERARE

!

— FIJI_ELECIRIC
orawN |G Qouns |8-03-91 | <y7 M IED. | AVOT |
heckn X |betiey SITE TOWER: LAYQUT
ormsesrerd 4 o= J19v]  NAVUTU ]
[approvED| Y I;:_/L:?}){ - o

71

T e e g g




o

T ALADRAU

N

S

DIRECTION OF FIRE

{ZV

TALADRAU

 WAILOA ;

TABLE OF ANTENNA LOADS

- ANTENNA

ANTENNA
DIAMETER

HEIGHT

ANTENNA

'BEARING
E OF N

PASSIVE SITE
| GROUND LEVEL

'BASIC TOWER

FAMILY

TALADRAU

WAILCA

3.6m APP.
3.6m APP.

20m

238°
- 70°

i zmmm

ﬁ

R\me 25.3 9/

CHECKED L

| TtRier

lrauth,m;, | )

| [approven] X

FU

I ECTRICITY AU UTHORITY

SITE* TOWER
PASSIVE
TALADRAU

lANTNJT

e N iR L" 8ty e O BN ,"_‘,‘,,,)

DRAW!N»G Nunagg i
AU%O




DIRECTION OF FIRE

v =

PASSIVE

~
AN

DIRECTION OF FIRE

PASSIVE

{mSe—

l ,
PASSIVE '
[ | /
/ PASSIVE
/ / 3 TABLE OF ANTENNA LOALS
/ \
/
N\ L] - ' ANTENNA ANTENNA | ANTENNA | BEARING
// \ TABLE OF ANTENNA LOADS : e B
y g | PASSIVE 2.4m APP | 23m 250°
" ANTENNA | ANTENNA | ANTENNA | BEARING .
7\\ " |DIAMETER | HEIGHT £ OF N WAILOA
/ %\1 PASSIVE 2.4m APr | "23m 250° ' GROUNC:- HEIGHT
A %% |
i /\
ﬁ?i\ﬁ'
e {
\/ | /
4 ?
vy,
gl
| ..—fgﬁQ | -
<<é/ﬂb -3 1 BASIC TOWER
FAMILY
| 5
3 FIJT_ELECTRICITY AUTHORITS FIJT_ELECTRICITY AUTHORITY _
s ! P i J ) OR;!Y , : ] - FSRR
DRAWK 703, ' ‘ DRAWN _|GTonus [22/3/91 . . DRAWING NUMBER
Gfouns {20/03/y SITE TOWER ' LAYOUT DRAWING NUMBER CHECKED | 4 SITE TOWER LAYOUT - S ——
CHECXED X s A ; L 7}'n'% : Al |l TnT l
iR | AL 60 [ 107 [ 028 et B _yF09M WAILOA At l60 | T07 1028 |
gt/ B/ iacds]  WAILOA UL N . S
approven] /UN 11y 7y SCALE:—— e i e

.



Sy

NAKOBALEVU

\/

KINOYA
GRCOUND HEIGHT

\/< " BASIC TOWER

DIREC

OF FIRE

TION

NAKOBALEVU

N

e oy SR

TABLE . OF ANTENNA LOADS

‘A | ANTENNA | ANTENNA | BEARING
ANTENNA® - SIAMETER | HEIGHT £ OF N
NAKOBALEVU, |2.4m APP | 23m 314°

ot
' - i i
“¥ CUNNINGHAM RO DIRECTION OF FIRE
~ P
TALADRAU TALADRAU h
\\\ ‘T—
..
CUNNINGHAM RO
TABLE OF ANTENNA LOADS
TALADRAU . . Ren
' T ANTENNA | ANTENNA | BEARING
ANTENNA
DIV} ANTEN CIAMETER | HEIGHT | E OF N
TALADRAU  |3m APP. | 35m 313°
TALADRAU 3m APP. | 20m 3130
(DIV)
KINOYA 2.4m APP.| 37m 138°
NAKOBALEVU
GROUND LEVEL
SASIC TOWER
FAMILY
A
| FIJI ELE TRiU Y AJ!HD*{H‘?
ORAWN _|R\er j22-2. 51 T , DRAWING NUMBER
e | B l7ig SITE  TOWER  LAYOUT T T
Dtg;‘:g?:fsm/ w n:9 NAKOBALEVU - < <. [
approvesl A\ {2y fy | CALE:

FAMILY

X L
FU' ELECTRIC?TY AUTHORITY ;
o SITE TOWER  LAYOUT L f‘;gw'"iozu"s ;3
orasamtsmaed F/ 173119 KINOYA. e T— 9231 4
APPROVED] ol 299 {SCALL: ——— . —

-/




TALADRAU -

C_AB‘ASA .

" TALADRAU
DIV)

\__

DELAIKORC

GROUND LEVEL

‘DIRECTION OF FIRE

/

TALACRAU

# LABASA

/

/’/‘ | /.
. C L
N

TABLE OF ANTENNA LOADS

e | qTeia [anems [scaane
TALADRAU 3.6m APP | i8m 226°
TALADRAU 3.6m APP | 7m 226°
(DIV) |
LABASA. 2..m APP|  15m 20°

DELAIKORO

~
]

VAVAN

AVAVA

>

DIRECTION OF FIRE

LABASA GROUND
LEVEL

—t

y

DELAIKORO

TABLE OF ANTENNA LOADS

. E—. -

ANTENNA | ANTENNA [ ANTENNA | BEARING

' DIAMETER| HEIGHT | & OF N
DELAIKORO 2.4m APP | 22m 200°

X

FIJT_ELECTRICITY AUTHORITY

BRAWING NUMBER

DRAWN

CHECKED

G.JgHns | 25-03-94

12:00.9%

2\
{hief b\{@ h(?: K’ﬁy

Draughtsman

SITE TOWER  LAYOUT

LABASA

SCALE i —

AN | BASIC TOWER
| FAMILY
|  TFIJT_ELECTRICITY AUTHORITY
DRAWN 21-03.9 : : : ' WING ‘
T X s 1% SITE TOWER  LAYOUT  |2it e
et AL o | DELAIKORO L L
|aprroveEDt J71 4y SCALE:

approvenl N\ 13-4
A\



BOLT SCHEDULE 1
SIZE T DESCRIPTION REMARKS |
M12 x 30 12 HEX. HD. ¢/w NUT & SPRING WASHER GALV. GR. 4.8
M12 x 35 6 S » » — '
i ' I - e
| I
! [ NNE
: \ /QETLQ.NAL LACDER LA.B \ M16 x 40 8 6 HEX. HD. c/w NUT & SPRING WASHER GALV. GR &8
I~ re {OR CAGED LADDER CL.B) - :
: yd é, M16 x 45 2 ] 3
3 i Ti Ii'$ Mi6 x S50 2 ” Y
* ' I I M6 x 60 s | 8 ” ”
: ; .I II $ M16 x 65 32 32 12 »
s
I ! | |
! 1
|€ 9[ : : M20 x 75 3 8 HEX. HD. c/w NUT & SPRING WASHER GALV. GR. 8.8
! I ’ ,
I I [ | °
| f I !
| ' | i
| | | | |
I : | _FE =1
| ’ | I '
| [ | |
| ' | |
| I | I
| | | |
| l : |
| /// | |
] | | | |
| I | |
¢l — — —— — — — | I |
I | l l | I ~M12 x 30
B1 ' : B1 | |
’ | | 7 I
! | T T L S
I : OPTIONAL ~PH
! ! : : I \LADDER BRACKET PH1 / 4/M12 x 30 / Z—LiUNG FROM DIAGONAL)
| | l ! 17N ik vilininiiasil 4 —————————— % —i/
: 84 : I | /’H'_ |¢T ﬁ"'.ﬁ_ :70, T'Q-I 'H"
| | ; ! QEHQE’AL—SO/ | | \-OPTIONAL
1 o x 82 LB1
' | I I (IN LIEU OF - : : 2/M16 x 45
l ! I l 2/M16 x 40)
| | | | N L
: I | : \\— B
I ! 14,
| [ i (OR CL.8)
M16 x 60 X/S [ I
| I
| , ! |
: | | -
[ I
| 1 ! 7
: I | —
[ |
' : ! =
f | ! L= | .
: i : SECTION B1-B1 =
| OPTIONAL MEMBERS —
| I I B4
| I ! LB1 -
; ; : LB2 —
| | | PH1 (2) ]
81
: [ I LA.B ]
| : : LEADRE NS GO -TOF-0O26
| R i |
| l .
' J [
: I |
I ]
| i ! ¢
I I
2/M16 x 85 X/S \l | | GENERAL NOTES
s *i ME ™ i 1. U.O.N. ALL STFE!. TO BE GR.250.
> ,'ﬁp Aap 1H 2. U.O.N. ALL STEEL TO BE HOT DiP GALVANISED.
2/5P1 3. U.O.N. ALL BOLTS TO BE HEX. HD. GALVANISED., GR.8.8
2/SH1 b (M12 GR4.6) c/w NUT AND SPRING WASHER.
/.fF'l_ 4. BOLTS MARKED X/S HAVE THE SCREW THREAD OUT OF THE SHEAR PLANE.
2/M1E x 85 X/S — |
LS 3/M12 x 35
: \ MK No, [ 'TEM | Do DESCRIPTION A
Jl é LADDER STILE :% MATERIALS LIST
//l \ This design or drawing is not soid Lut lent. JENNIS & LeBLANC COMMUN'CAT'ONS PTYLID.
M20 x 75 X/S | — LS2 e e BT o o o 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
: : ot be communicated to any percon Telephone 277 8866 Telex AA95003
whatsoever without the written consent
. 3/M12 x 30 \ S 2 ta T
{612 35 USED WHEN LS3 of JENNIS & t.eRi. ANC COMMUNICATIONS Ll LZOOOC SS TOWER (CYCLON'C).
ELEVAT'ON CAGE. LADDER HOOP FITTED) DRAWN TonJcHECKED EEQAEN[_I)_ARND _}ME(_:])_DLIJ_I-SE cB:
' ) TRACED APPPOVED L RECTIO DETA
TYPICAL LADDER SPLICE — PKK — - —
AL DRG. No. .
REFERENCE DRAWINGS REF REVISION DATE | APP. 29-12—8al 1:10 ° JI_1 1 ‘]/2/2




BOLT SCHEDULE
N | SIZE R AR DFSCRIFTION REMARKS |,
1 e
| ! OPTIONAL LADDER LA.EV M12 x 30 3e Hila. HD c/w MUT & SPRING WASHER GALY. GR. 4.6
(]
B (OR CAGED LADDER CL.EV) s x 70 x/s w1 x 60 x/s | w2 x 3 T e —— .
I M12 x 45 2 —_———— —— ) - »
o e . e e o e, e s e et . A R+ _N,_é; i‘ E F - T —_ [
i I [
< | f . :
\ : i Mi6 x 60 %/S M16 x 40 9 HEX HD. ¢/w NUT & SPRING WASHER GALV. GR. 8.8
- “ ; ; M16 x 45 -] 3 _————,———— 3
N I |
> ‘l : : M16 x 50 32 38 R i
: : ST R DE_I_ ”_ M16 x 55 ig 16 ———————— — "
i i | M16 x 80 X/S ——— . —
| ) [ (N LIEU OF M16 x 70 X/S) | ANDA D A Mi6 x 60 22 8 1y ———— e | —— ”
f i ;! —Mi6 x 70 X/S Mi16 x 65 8 8 —_— " - -
B = 7
i ! | (IN UEU OF M16 x 60 X/S) 416 % 70 6 PO B o T T
{] 1
/—MIS x 50 ! I gspgggf gllleORM M16 x 80 8 —_ oy — _—
- ! | AND PACKER PLI
3 M16 x 45 ——--— - < i I ve. 6
(3/M16 x 50 WHEN l | M24 x 160 +8 48 HEX. HD. ¢/w NUT & SPRING W.SHEK GALY. GR. 8.8
CHANGEOVER PLATFORM / i }
. USED) 7 : {
i j . l
i i
I 1 o
i | "— CPTIONAL
, ! M16 x 40
I i TYP. 6
f X
f i M16 x 70 X/%
| ! (IN LIEU OF M6 x 60 X/S)
!
[ 1 ]
; ; DETAIL FOR PLATFORM
i )
1 1
i . )
i | 1 |
I 1 I | r—l-
] : : : | HANDRAIL POST HP.1 —\
= | il
: : : : ] E M12 x 30 — 4 OFF N “\: SggggAtR\} o
: : : : l TYe.2 A LGWER HR4
i | I [ NN
| i | | M16 x 45 — 4 OFF —_ \ \ /
4/M17 x 30 — I | I I i \ \\ /
™Yo, § ] : ; ! SN / PHI—
| | AN
SEE DETAILS | ! i \\
N ! PH4 e \\ Y - - h .
| i \ ! “a a— S €1 )
| ! £ a ¥ ) £
N . Vil _JLierip mesH \ |, e, ™ — 4
- — == . i 3/8412 x 30 —“\-\: o m— ! : AP 4
OPTIONAL FLATFORM { YP.2 o) H .
\_oeTionaL KEEP PLATE | ! %\‘_ )1 B D
b cP1 - TYP. 2 I = = = == - o) Y y
: | : 8y 1 T
i HE- GRID MESH
n' i | NS bl Y ors .
! X | : N, o ) !
| N , ] s || s | ”
j ® i ! | L BEF/S LOWER HR7 b |
" 7 | { J,\JJ Y oM12 x 30 KICK PLATE KP1 y o £21 | |
] yd I i
l, N /v/l \ : I' < v N\ RN e e ]
i 4 | 1
] N s 5/‘, | " |
j N3 ‘s ! ! (AES
i | i (OR CL.ES) HANDRAIL B
Mi6 x 55— | N\ / } UPPER HR.i |
I %> 5 ! LOWER HR.2
ol [ I =
o I l
/ : ! UPPER HR6 S ]
{ LOWER HR8
MI6 x 45— ! ! — KICK PLATE KP1 |
; I~ E L _F
A [ [ y .
} | PHZ% N
2 | f M16 x 40 ~—M16 x 50 —
3/M24 x 100 X/S | | g TYP. 3 ]
A\ 1 =
M16 x 50 > ! ! -
" N : ] SECTION E1—E1 (CHANGEQVER PLATFORM) .
N ! ! ALL MEMBERS ARE OPTIONAL -
NN >3 g :; GENERAL NOTES
> 2/SH3 A 1. U.O.N. ALL STEEL TO BE GR.250. : ~1
- 2. U.Q.N. ALL STEEL TO BE HOT DIF GALVANISED.
P OP ! 'ONAL LADDER LA. E‘Sﬂ\ 3. U.CN. ALL BOLTS TO BE HEX. ﬁo. GALVANISED, GR.8.8 -l
(OR CAGED LADDER CL'ED/ 4 géfTsNUnIAé\}fgu S)?/RéN(l;-xAvés?geR'SCREw THREAD OUT OF THE SHEAR P ANE .
[ <] h [ . - N - -
'u' 3/M24 x 100 X/S FEADRGNE 60 T("FZ- Oz 7
&1
i \ M18 x 65 X/S Mk No, | TEM | Do, DESCRIPTION A .
AN S M16 x 70 X/S
! N T~ (M16 x 65 X/S TO STUB LEG) 3/M12 5 35 MATERIALS LIST
. 6 LSt
MG X 80 X/ e This design o drowing s not soia butremt. |JJENNIS & LeBLANC COMMUNICATIONS ervaro.
LADDER STiLE | s e suslent 1o s s wantonte must 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
! e be communioated o any perean Telephone 277 8866 Telex AA95003
| \ whatsoevet without the written cor.ent
—— Y
\LSZ of JENNIS & 1.eBLANC COMMUNICATIONS JLZOOOC SS TOWER (CYCLON!(J»
N 4 H
AT N ey [oeoco | STANDARD MODULE “E
: _‘ , TRACED arerovepprk | ERECTION DETAIL
| Ji7 R_GEMERAL ARRANGEMENT -
TYPICAL LADDER SPLICE 344 Y DRG. M.
REFERENCE DRAWINGS REF REVISICN DATE | APP. 15—12—89 1:12 U.O.N. JL‘] 1 ’1/2/5




B UL SUHRcUULL
SIZE N TADIRR DESCRIPTION REMARKS
M?2 x 30 ‘ 8 HEX HD ofw NUT & SPRING WASHER GALV. GR. 4.6
M12 x 35 10 ” )
MiB x 40 2e 18 =EX AD cfw NUT & SPRING WASHER GA_V. GR. 838
M16 x 25 18 [ ” ”
M16 x 50 16 2¢ e e D) »
M16 x 55 24 74 »» 1 o
M16 x 60 16 1o e - ”
M16 x 70 8 8 USRS PSS e ”
™M24 x 100 48 48 REX. HD. ¢/w NUT & SPRING WASHEP ] CALV GR. 8.8
M16 x 40‘W\
N\
05TIONAL -~
2/AS1
2/ASZ \\
8/M16 x 50
A .
LR &
A /-
\\ ";'
\\ y. /
NS ;
/IS - PHI il
A. “\ ’ l',
& \ I
A
4 \\
I
|
|
’l /mz x 30
£ ]
! \LADDER BRACKET
Mic x 40— [' |
— OPTIONAL i ]
4/M12 x 35 I |
Mi6 x 55 ’ X
LA.F—/ & ', -
(OrR CL.F) I —
n -
I
i |
— 3 M24 x 100 X/S \\{\ ! =
_— SAS i I -
2/5P10 - - \ -
2/M16 x 50 - {HUNG FROM DIAGONAL) | N :
(IN LIEU OF I
3/M24 % 100 X/S 2/M16 x 40) ! .
~— X I i
M8 x 7C X/S §LLEEE-I£|89?£.\! ARFF(‘]F’TIOI\E.J | B
Lz ‘; (M16 x 60 X/S TO STUB LEG) ; i —
] AN
[ \\ D
'Illl ‘R\I\HG x 60 X/S ‘ -
GENERAL NOTES ] _
1. U.0.4. ALL STEEL TO BE GR.250. _ ]
2. U.O.N. AL STEEL TO BE l:IOT DIP GALVANISED. OPT'ONAL LADDE_R LAF \ '
3 U.O.N. ALL BOLTS TO BE HEX. HD. GALVANISED, GR.8.8 - -]
¢/w NUT AND SPRING WASHER. j-:f/f,j)@fh’o &o -TCF- ggg CAGED L-ADD'—-R CLl:'/ S
4. SOLTS MARKED X/S HAVE THE SCREW THREAD OUT OF THE SHEAR PLANE. P A el z %
¥
MK No.| 'TEM o DESCRIPTION oA
3/M12 x 35-\
LS1 MATEFIALS LIST
LADDER STILE i |
7] ﬂ This design or drawing is not sold but lent. JENN!S & LGBLANC CO!M-“"I”N'CAT'ONS PTY.LTD.
R W remains the property of his Jompany 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
and is subject to recall. its contents mast . A .
not be communicated 1o any person Telephone 277 8866 Telex AA95003 A if
whatsoever without the written consent - *
JL2000C S.S. TOWER (CYCLONILJ) A

~1LS2
of JENNIS & LeBLANC COMMUNICATIONS

3/M12 x 30— S Ls3
('412 x 35 USED WHEN
T ——{STANDARD MODULE ‘F’
FRECTION DETAIL -

CAGED LADDER HOOP FiTTED)
TRACED Approved KK

TYPICAL LADDER SPLICE _
OA_12-88 |5“*is DRG.No. JI 111 / 2 / 6) REV.

REF REVISION DATE | APP.

REFERENCE DR/ WINGS




BOLT SCHEDULE
SIZE ) TADDER DESCRIPTION REMARKS

M1Z x 30 8 HEX HO c/w NUT & SPRING WASHER GiLV. GR. 2.6 ]
M12 x 3§ 10 e e " - ”
M16 x 40 20 i8 ~EX HD. c/w NUT & SPRING WASHER GALV. GR, 8.8
M16 « 43 16 16 e am e ) " —
M16 x S0 16 20 -_ » —— i
M16 x 55 2 24 - — - '
M16 x 60 i5 16 e —— e 13— »
M18 x 70 8 8 — ” i

N M24 x 1C0 48 48 HEX. HD. c/w NUT & SPRING WASHER GALV. GR. 8.8

.‘

3/M12 x 38

~—M16 x 40
PTIONAL \LADDER_ LA.G
OR CAGED LADDER CL.G)
~ 2 ASI
2/AS2 .
N 8/M16 x 50 —
‘-d_»,/‘ < f
N & l
I
M16 x 50 /
A
e _ _ e S a _ _ | Mi2 x 30
N /
fa - M16 x 40 f== = |
: ] ,f
v & [ ‘
/ i’ LADDER BRACKET
OPTIONAL ‘
\ |»' /-4_/M?2 x 35
.--M16 x 50 |
|
1
' wne- N
l (OR CL.G) |
' _
2 / _
PH1 —
P —M16 x 40 ! l_ (HUNG FROM DIAGONAL) _J
I P —
N / 2/M16 x 50—
<0 ) (IN LIEU OF ]
@Q ‘ ! 2/M16 x 40) |
i , SECTION G1-—-G1 -
! ALL MEMBERS ARE OFTIONAL _
i |
1
1
] _—
]
1
, ]
i
] —
1
l' M16 x 45 —
i |
e |3 GENERAL NOTES i
AU [ 1. UON. ALl STEEL TO BE GR.250.
2/5P3 u w4 2 UO.N. ALL STEEL TO Bt HOT DIP GALVANISED. -
¢ 3 UON. ALL BGLTS TO BE HEX. HD. GALVANISED GR.88 .
T & 1 - c/w NUT AND SPRING WASHER.
! N 3/M24 x 100 X/S 4 BOLTS MARKED X/S HAVE THE SCREW THREAD OUT OF THE SHEAR PLANE. ]
]
S “~—3/M24 x 100 X/S LA LGNS EO-TOF- 029 _
! |
!
2 MK No. | 'IEM gg’; DESCRIPTION oA ;

MATERIALS LIST

-
T T~—M16 x 80 X/S st

JENNIS & LeBLANC COMMUNICATIONS #:v.o.

f
{ N .
i T \\\ M16 x 70 X/S
! ‘ O (M16 x 80 X/S TO STUB LEG) LADDER STILE--
I ’ ~— M16 x 60 X/‘S This design or diawing is not sold but lent.
' ) It remains the property of this compeny 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
3nd is subject to recall. Its contents must
not be communicated to any person Te‘ephone 277 8866 Telex AAQSOOS

3/M12 x 30

170 -1S2
(1112 ¢ 35 USED wHEN O;\LSJ ot sEnnes 4 Lonuanc commmicanons | J] 200CC S.S. TOWES (CYCLONIC)

TYRICAL LADDER SPLICE DRAWN TJH  |CHECKED STANDARD MODULE ‘G’
TRACED arrroverkk |ERECTION DETAIL

LT oL
aPP. AT 1289 | 2 won. [T ™ JL111/2 / 7

REV.

REVISION DATE

RLFERENCE DRAWINGS REF




BOL!T_ SCHEDULE

SIZE e DESCRIPTION REMARKS
MiZ x 30 8 HEX RD ¢fw NUT & SPRING WASHER GALV. GR. 4.6
mi2 x 3§ 10 SO | J— by o
M16 x 40 16 18 HEX HD ¢/w NUT & SPRING WASHER GALY. GR 8.8
M16 x 45 4 2 - " "

M1é x 50 32 34 ” FE R —
Mi1& x 55 24 26 B et IR »

Mi¢ x 65 16 16 — N e »”»

MIE x 70 8 8 P . )

M24 x 100 48 48 HEX. HD. ¢/w NUT & SPRING WASHER GALV. GR. 8.8

- I

M16 x 50
2
»O);O
44,
¢
2,
&
\,
M6 x 55— i /M8 x40
1t
i — -
| [
!
i w2 - 2/aS] ."
! \ T2/rs2 _ | .
i 8/M16 x 50 0 \
I A
i » % "‘
- ! qa N Mi2 x 30
It
| Wl M16 x &S /
i . Mi6 x 5C x .
[ NS _
. / P4 IR
H 117— | H1 \—LADDER BRACKET
> v A
M16 x 55— ! ] .
:' &
! __—MI16 x 50 N
i 3
{ Y H;
! { ~. LAH
:‘ \\\ (OR CLH)
‘ ~
:‘
t
.= ’ \ -
AN o
'.‘ "_uie x 40 L - FI-'I.-!U‘NG FROM DinGONAL) S .
1 .
M16 x S5 ! 2 5 x 55 - -
T VY‘FL (IZN/ HEu “oF
OV\‘?“ 2/M16 x 45) —
< I
‘ ~ -
€ I SECTION H1-—H1
' i ALL NEMBERS ARE OPTIONAL -
‘d 1 —
I e
! “~—M16 x 30 I }
i
t H
3/M24 x 100 X/S—~__ | I 7
i —
SAS p3 - " ,
2/SP3 -
. ' S )
T 2
3/¥24 x 100 x/s—"”; a L4 DG He SO - 707~ O350 7
— . V an . . . —
Mi6 x 65 X/S—~_|! e < 70 X5 OPTIONAL LADDER LA.H T ~
,’ (M16 x 65 X/S TO STUB LEG) (OR CAGED LADDER CLH)
.' Q _
M16 x 65 X/S—[i |
”: { \
GENERAL NOTES
1. U.O.N. ALL STEEL TO BE GR.250. —
2 U.0.M. ALL STEEL TO BE HOT DIP GALVANISED.
3. U.O.N. ALL BOLTS TO BE HEX. HD. GALVANISED, GR.8.8 | -
¢/w NUT AND SPRING WASHER.
4. BOLTS MARKED X/S HAVE THE SCREW THREAD OUT OF THE SHEAR PLANE. —
|
MK No. [ TEM | Do DISCRIPTION Lech-,lgm_r
3/M12 x 35—
MATERIALS LIST
LADDER STILE This design or drawing 15 not sold but leat JENNIS & LeBLANC COMMUNICAT'ONS PTY.LTD.
It remains the property of NS comPony 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
i i bj 1 0 It ntents t
Ls2 bt ommniaated 1o any persen Telephone 277 8866 Telex AA95003
e 3/M12 . 30_/‘ 1S3 whalsoe:er without il'.e‘wri:len consent N / P'
(42 x 35 USED WHEN o seanis & Lesanc communications |1 2000C S.S. TOW ER (CY\/L_ONIC)
CAGED LADDER HOGP FITTEE) TR |oHECKED STANDARD MODULE ‘H’
WPICAL LADDER SPLICE TRACED APPROVEDPKK ERECT{ON DETA“_
. ; , REV.
REFERENCE DRAWINGS REF REVISION DATE | AFP. DAT‘EB-‘)Z—‘GQ SCAL1§15 DRG: No \.JL1 1 1/2/8 =Y




e R i L

:' B3 5

)

i

PR \ L S

3
‘
- _ _ ~
| : :
; amis ! sarg
— AN SN N SN S N NN N A

= QL

'} o

S " :
» e ! ' N \
. e
I
H

1 —

N

NN

NN

|
P
il

T

ST S T N NN S T N N S N

, (017
/
S

s

- ' 2-M.1o % |l // i :

150

i |
i

~
I.|!’J \(\
) ‘

—t ’ /7./ g {ar TN =2
. g N

350

9 a

(45 12 HOLE,S> g

TO BE USED FoR 200 x 200 LEGS

m—BoUTES MO
COMPLETE. WITH
NOT + <SPEING
WASHE =,

ALL GALVANISE T

SLE A B N EOCTOFR-OI]

MEMBER SIZE & TYPEYA)(1) T15~5 FE 850c  Benb,
B2 15xSE 250 16

INotes:

1. ALLSTEEL 0 BE H.D. BALVD. U.O.N.
2 ALL HOLES TOB: 12 ¢ UDN.

MARK N® C B 2A - CB82B  N° REQD AS DRAWN @
7 (255K0) - Q'@S K@) NS REQD. GPP HAND

JENNIS & LeBLANC Communications Pty. Ltd
32, REDCLIFFE ROAD, REDCLIFFE, W.A 6104 Ph. 2778866

CLIENT: STANDARD

PROJECT: CABLE BRACKET )
(FOR RT ANGLE LEG}EI’BQ.OZOxzoO

SCALE: DATE: DRAWN: DRG, Ne:

e
o
;

P e

r=
‘- W I o ™ ) REV
: 2L 22.2.82. BW. |JL0B/CB2AB
E e LR TR TCLR Tne .
IR s em e e B - -
. - v e . - .- X D .
B R e R B R R T G e D O T o S B e e S s S L S R T R T B T i T R B S SR opnY) o L e R | R O O | L S T T e SIS B (TP B O TR ,x{ﬂ“:;};::_':i SR

L igle

50

-

.

—3\

Vo~
kq‘, L, 60 55

2-MI0 BolTs
See ScHEDULE

L {o
' L.
12w~ (o1
S LoTTED |
HOLES,. !

1

7,

25 ? \@(V)

v’

SN

'

Bol T ScHeDuLE

R N

QO <O

oo * 10O
125 > (25
1D 0 = |50

LEES S\ZeE BolT LENGETH.

45 ALL BolTs Mo

55 COMPLETE. WITH

—[5 NLDT <+ <SPEING
WASHER. . .

ALL SALVANISE D

&5

L | @ X

SEA DEG.NO Go~T O~ O32

MEMBER SIZE & TYPE:X (1) 155 FE. *1860  Bend.
Y@ 15«S - *2BO

Notes:
1. ALL STEEL 70 BE H.D. GALVE. U.O.N.
Z. ALL HOLES TOBE |2 ¢ UCMN.

MARK N° C.B.2 X ~ CB82Y  N° REQD. AS DRAWN @
(2-34 Ke) - (o.gap;((;) N® REQD. OPP HAND

JENNIS & LeBLANC Communications |Pty. Ltd.
32, REDCLIFFE ROAD, REDCLIFFE, W.A. 6104 [Ph. 2778866

CLIENT: STANDARD

PrOJECT: CABLE BRACKET ‘CB.2
(FOR RT ANGLE LEG)

SCALE: DATE: DRAWN: DRG. N¢: REV.

g s

L/

e 22.2.89. Bw. [JLOB/C

PRI . .
] . [ e ks
o L DIRT LETr
R < - > E 9
G P




@ T @ T
- RO, (9 - —~®
- (849 -
OB, ; 2 N
, T - o e R4 3000m o o N b LA ri 2300m I . y 21 _2000m
I 1 » 3m GRIDPAK {LOLOLO) DDER LAA I R - o ' LADDER AL P 2 x 2m GRIDPAK
WADDER LA —~___ : 1 x 3m GRIDPAX (NAKOBALEWy) ~— WAPDER AR = X /- CAGED | BANT. MNT. AC2F3S1UB3 N N\ { s S GRIDPAX
A1 x 2.4m GRIDPAK ‘NAKOBALEVU)_ ! / LADDER . 22.00rm B ANT. MNT. AC2F3S1UB3
LADDER SPUCE —\C) N ANT MNT. AC2°3S1UB3 LADDER SPLICE —\\( | ' | cut 4 —— — iz rRDOAR-  WADDER SPuCE \C> i .
i R.L 33.00 ‘ T RL. 3).00m i} . RL_21.00m ' R.L_18.00m
— ! \l WORK PLATFOR%’,I popen g i WORK PLATFORM CAGE STRAP T - P “ WORK PLATFORM — 1 WORK PLATFORM
7 F CAGED CAGE STRAP — i /— CAGED | 3/CF1 TN AC2F3S B2 | CAGE STRAP /— CAGED
Sere TN f ADDER % 5/CFB ||| |y LODER G DOLR SPLICE RL. 20.00m N - s/crs B V" @@
= Al | e e T e N “ |
y 1
T | | ! B w00er spuce -~ [[]] ' R GAOE STRAE q — CAGED | ! T L B
' " ST = /CF3 N1/ reoper N I
[ i
LADDER SPLICE —__ i N < L ADDER SPUCE — ce , - LADDER SPLICE — CE
- i > 2/1S1 nn I =N
1)) LN\ ) LN\ 27032 N L/ N L1\l
e ST N i 5 N AGE STRAP —. é
CAGE STRAP . CAGE STRAP ——. . | 27153 y < i CAGE . CAGED .
CAGED - L yn — CAGED ' 8/M12 x 30 \ YT 5/CF3 ~ /" oo T
5/CF3 \ LADDER ] 5/%F3 ™~ / PODER N C a/mz x 35 \ R \4\V / / Cl-i\gDER |
cLe X e LADDER SPLCE | ce % 160 3 e \d N s SHE TN N
T 2/L51 . | ‘ 3 ] Lot Ll l
— H ~ 24432 7 ] LADDER HOOP —-. Y RL 1500m W11 NI senp Une Re 15.00m 2432 AN |
b 1 27183 V4 P R.L. 22.0m LH1 T x 3m ) WORK PLATFORM 67&,, 2 % 30 : o
/M2« 30 / . T X 2.3m CRIDPAK 7/M12 x 30 GRIDPAX ¥ AT l
g M2 x ANT. MNT. AC2F3S1US2 P, 12 ANT, AT, N e 3
» 4 A \ ) 1
LADDER SPLICE —__ ANIZ s X C .
{ 1 CAGE STRAP —. CAGED , )
t;?oER HOOP ) | i i BEND LME R.L. 25.00m tﬁD]DER HOOP )RL 20.0m BEND LINE R.L. Z(r)éogm 5/CF2 ™~ //— LADDER X I D ?HE:DER Hoo - l : l l SEND L'V'TSRE‘%L&%%?L‘
- WORK PUATFORM T x 2m WORK PLATFORM : ' i
7/M12 x 30 ! 7/M12 x 30 ANT. MNT. cL2 ! l wng x 30 X /'\’
TYP. 19 TYP. 16 AAT5R4 ™ Ll N o,
| n GE STRAP I U 1'\ : CAGE STReP—~_ [TT] CAGED
CAGE STRAP CAGED CA CAGED CAC —
5/CF2 T~ LALgDER conxy 5/cr2 N tALgogR 2 18.0m LADDER SPLICE ] C) /1 . $/CF2 =1 |/ ét?'DER D
c 1 x 3om AK ' | “
1 . CAGE STRAP . 1 .
T=/_ CADDER MODULES A-F 158 POANT. MNT _AA1988 s/crey ] ! | \ 0 e ey @'\“-
. l it CAGED N o ca2xy
- O T HOOP_\\ " (ADDER ' /A ANT WNT DDER SPLICE @ 7000 CRs.
LADDER SPLICE——_| d) LADDER SPLICE ) CE2XY 7/M12 x 30 N CLEV | _ E ApISWE 1 TYP. 18
CAGE 3TRAP — s CAGE STRAP e @ 100C CRS. i — CLAMP > ST 3 Bm CAGE STRAP — ~
5/CFev \r [ RL 20.0 sjeres N \©MODULES A-F CACE STRAP ——__| ”- /' PLATE LY + X 7 GRripdAk 5/CFEV ]
1 200 L P 23 5/cFeS I e P _&L_7.50m UL cucen
LADDER HOOP — T x 3m GRIDPAK (NAKOBALEVU) CAGED S CHANGE OVEE PLATTORM ~
H3 2 x 3m GRIDPAK (LOLOLO) , LADDER 1 CAGED / - L/ IE?_IESER —
SRIDT / v —
7/M12 x 30 \f' F \ ;Nf {ASEP Aﬂ%&“f (Lotoro - f:ILAMP E @\ 7/ LADDER , t ~—_ @:@ CLAMP t
CAGE STRAP ~—_ ’- ~ CLAMP , LADDER HOCP PLATE P CLES ' / PLATE
5/CFEeS ~ Y PWATE L] R.L._17.50m LH3 27cer L1 ) R.L 12.50m __é ! / J 2/CP1 R.L. 2.50m
LADDER SPLICE 2/CP1 T CFANGE OVER PLATFORM 7/M12 x 30 I CHANGE OVER PLATFORM T D | | n/ CHANGE OVER PLATFORM
§A $1 v nE CAGED dtml — CAGED | LADDER SPLICE — ] I R.L 5.0m CAGED
zftsz LADDER ! Py STRAP\ " _ADDER N\ * 7 x 3m_GRIDPAK LADDEP i ' |
27183 i ' 5/CFES Y ke ' : T ANT. MNY. AATSW4 LAES A
/ N CLES CLES | — CAGED :
6/M12 x 30 N g / | r LADDER FOCT
6 MiZz x 35 H_‘g X LADDER SPUCE __é . CAGE STRAP — / LADGER . 2 /LAET l ; 2/M12 x 40 — TYP. 4
TYe. 7 D I | | D I~ l ‘ 5/CFe N CiF |/ N 47016064 \ I MK. NO. ESI
; - | ‘ / : ( ] 4) OAEeT i t LGk RL 000m 12 x 30 - TYP 4
5 P | P m@ J / | \ MK NO. ES2
~— s NN E S - N > foues Pl
. - A - . ’ -
CAGE STRAP CLF ’ | s/ CFF \\ CLF | i CADDER
5/CFF TN ; ! : LADDER Foot l ! 2/M12 x 20 - TYP, &
Y v ¥ 1 / ..
ofrorans I et ! \ 4/D16064 ~ i \ L ! MK. NO. ESi i
. | , ! L _?.0m DYNABOLT ™~ l OL. ¢ R.L. 0.-00m 12 x 30 - TYP.
1 x 3.6m CRIDPAK .
! | . | 1 36m cROmK \ - v NO. E32 @ VUDA RADIO _
LADDER SPLICE ——_| ) l j , l LADDER SPUCE ~-Zoo _ 5 / S/ I ! ‘ - INTERNAL »'/// -/) TOWER EARTHING
- 1 ‘ ) A\ - - —
f CAGED ) ,‘ i T — caceo ,' ; LADDER ~—
. LADDER - /' LADDER —
CAGE STRAP ‘ CAGE STRAP / X '
5/CFG \ cLe |l I 5 CF5 \ / Cee i I ,—@ _
T Py -3
I ' ]
i Y,
' G ! ' CB2AB O TALADRAU |
| : ] | i /@@ 3500 cre S
wm - MODULE G —
; i ; . e.S 16 |10 |ANTENNA MOUNT — STD. G.P. ON FACE DRG J441/2/5
T 15 |5 |3.6m GRIDPAK BY OTHERS
LADDER SPLICE \r-é ! \ !2.%25_? FOCT | . ! ~ 2/M12 x 40 — TYP. 4 |
P I ! | 4/D16064 \ 4 \ I A MK. NO. ESI 14 |11 |3.0m GRIDPAK BY OTHERS B
_ o L RL. 0.
| ! pYmABOL ! = S M2 x 30 — TYP. 4 13 |2 |2.4m GRIDPAK BY OTHERS
CAGED , ~ MK. NO. ES2 =
GE STRAP T/ LoDeR | \INTERNAL CAGED TOWER EARTHING 12 |3 |2.0m GRIDPAK BY OTHERS ]
e Y CLH ! TADDER TYP. ALL LEGS
5/CF4 | H %BZABO CRS 11 [ 11 [ ANTENNA MOUNT — STD. G.P. CN LEG DRG J441/2/8
) 100 :
1] | /"OMODULE G &H - 1C | 108 | CABLE BRACKET — CB2XY DRG JLOB/CB2)Y
m i ~ ™P. 10
| - J J w 9 |25 |cABLE BRACKET - cB2A3 DRG JLOB/CB248
! )
' l 8 |5 |LGHTNING FINIAL DRG JL102/LF2-3
LADDER FOOT i _ e
2/WAFT i ! a,l(wffo";g e s @ DELAIKORO GENERAL NOTES 7 |20 |MAST EARTHING — 4,/MAST DRG JL113
4/016064 > ] - MO 1. UON. ALL STEEL TO BE GR.230. -
DYNABOLT ™~ i l\ G.L. , Rl. 0.00m 42 x 30 - TYP. 4 A 2 U.O.N. ALL STEEL TO BE HOT DIP GALVANISED. 6 |5 | INTERNAL CAGED LADDER L
‘ 1 U.ON. ALL BOLTS TO BE HEX. HD. GALVAMSED, GR.8.8 :
\ MK. NO. ES2 o NUT AND "SPRING WASHER. ¢ 5 |5 |ToweR FOUNDATION DRG JL111/3/
INTERNAL CAGED TOWER EARTHING i .
LADDER _— TYP. ALL LEGS 4 |1 |20m JL2000C s.s. TOWER DRG JL111 SERIES
' 3 |1 |23m Ji2000C S.S. TOWER DRG JLi11 SERIES
! //—@ 2 |1 |30m JL2000C S.S. TOWER DRG JL111 SERIES
———— e 1 |2 |35m JL2000C S.S. TOWER JL111 SERIES
3 3 T
LOLOLO & NAKOBALEVU < - o] ' | o Ll
LS2 \ .~ LSI LF2 ﬁ%‘ CABLE gggﬁg MATERIALS LIST
_ 32XY CABLE - - A
CABLE BRACKET f<7/ 3/M2 x 35 J441/%/8 ANTENNA MOUNT — STD. ON LZG AN EO-7OR- O3S
o N X o 2/v8 J441/2/5| ANTENNA MOUNT — STD. ON FACE NICATI'ONS
;;J Ve ‘J' BOLY JL111/2/ MOCULE ‘H’ DETAILS ~ STANDARD This design or drawing is not sold but fent. JENN'S & LeBLANC COMMU k' PYY.LTD,
= X 3 e Jdu ”52 / MODULE ‘G" DETAILS — STANDARD NI A 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
! | } JLI11/2/6 MODULE 'F DETAILS — STANDARD ot be commanieated to amy pereon Telephone 277 8866 Telex AA95003
3 M:2 x 30 7 M10 x 39 CRS. — dL111/2/5 MODULE ‘E' DETAILS — STANDARD whataoever without the weitton somsert 2
N ‘U Bouy J441/2/4 MODULE ‘D' DEATILS — NON STD. ¢ JENNIS & LeBI ANC COMMUNICATIONS l Y
LS3 ~_ /\% TOP HORIZONTAL ~|J441/2/3 MODULE ‘C' DETAILS — NON STD. ° ° FlJl ELECTRIC COMPANY
\ STI N 1441/3/5 WODULE & DEILS - TOP S Temaes 15 x JL2000C S.S. TOWERS
2/M10 BOLTS TOWER LEG e J441/2/1MODULE ‘A’ DETALS — NON STD GENERAL ARRANGEMENTS
~ LF3 JL111/3 . g ’ TRACED APPROVED KW ?
/ S ‘ DATE SCALE DRG. No. : REV.
[YPICAL CABLE BRACKET DETAILS [YPICAL LADDER SPLICE LIGHTNING_FINIAL DETAILS AEFERENGE GRAWINGS - Revision oATE | Ave, 21289 NTS  J441/1/1




et e e i e e i s

e N et AN

- ’ BOLT SCHEDULE
W16 < 50 SIZE QTry. ‘ DESCRIPTION REMARKS
X .
; 87 MiZ x 29 12 MEX. HD o/w NUT AND SPRING WASHER| GALY. GR.&6
= it | ‘l Mi2 x 35 6 . - - . -
5 _. . S -
A -~
- $67us » 50 HOOK 30LTS 116 x 40 41 |HEX. HD c/w NUT AND SPRING WASHER|GALV. GR.3.5
2 M8 x 110 HOOK BOiTS . . . ;
M16 x 45 6
M16 x 50 2 ® ” . ” "
MI16 x 55 8 - " b - -
AB M18 x 80 22 " " - - -
87 M15 x 65 6 " - " . g
MI6 x 4f —._ M6 x 45 = M8 x 50 18 HOOK BOLT c/w NUT & SPRING WASH. | MK. NG GCs
N ~>‘=§ M8 x 110 2 - : - | Mk nO ocBe
&
’ ~—Mib6 x 50
——— GR4
— 8/M8 x 50 HOOK 80L7S
- M13 x 40
—M16 x 45
PLAN A1-—A1 PLAN A2—A2
'A1 A1 ‘ ~M17 x 30
/F'# i ! 'c"lf _;— E:— ™ == L LRSI
| & i - -“_ [l N |
M16 x 40—/ : II : ; T \ -
I f f ) , _
: | z e - goes
M6 x 55 X/S — | | ; | : BRACKET —
! | | 1 ;
fised ‘ ! i —
N "> { i : : ]
i { I ] 0
I ! i 1 .
| f i | ' —
| I I I 1
i { ! i ' —
I | : i :
! I i ! ! —
| | i .
< : ! i | n (57— ~=3/M1Z x 25 —
[ 1 -
| j | I s . GENERAL NOTES _
! : : ! | > /4 . U.O.N. ALL STEEL TO BE GR.250.
! LADDER STILE— T T T W 2. U.O.N. ALL STEEL TO BE HOT D GALVANISED. -
| ! i 1 Z 7 i
B | | | i -~ : —¥ 3. U.0.N. ALL BOLTS TO BE HEX. HD. GALVANISED, GR.8.8
! | | , ; Za | N (M12 GR4.6) ¢/w NUT AND SPRING WASHER. -
| | | i 13- i “Cis2 4. BOLTS MARKED X/S HAVE THE SCREW THREAD GUT OF THE SHEAR PLANE.
| | | 1 > | = =
| { l | : . %
] ! I | i
| i | i : 3/M12 x 30— \,
Mib x 40 — ! | : : | (M12 x 35 USED WHEN —1S3
| i i | i CAGE LADDER HOOP FITTED)
\ A | |
S 3] ! ! ! -
; : i I E TYPICAL LADDER SPLICE
I [ i ; '
I i { |
! ) | : | :
| [ | i :
M16 x 40 — ! ! : [ |
I '
! f 5 | :
2/M16 x 60 X/S -- . HRS / | i ; 1'
N | 1% 7 7 % 3] | ! ! I
= L] | I 1 '
2./SP1 T’P&; / g: i 1T L MK No ¢ NEM o DESCRIFTION LENGTH
Nl — - . — L4 —.':.4
T <5 — : T
!*;3- / s M16 x 40 i| . FFA% A© 60'7-07',03¢ MATERIALS LIST
//II ! LADDER LA A\ This design or drawing is not sold but lent. JENNIS & LGBLANC COMMUF%;CAT'ONS PTY.LYD.
2/M16 x 80 X/S — I { > e et s oo movst 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
: o~ MiB x 40 : not be communicated to any person Te'ephone 277 8866 Telex AA95003
'K-Z ! - | A2 whatsoever wil;outhhe written consent
L f JENNIS & LeBLANC COMMUNICATIONS ]
| 7 7 A | ' " ) S'IJI ELECTRICITY \//A\VUTHORITY
ki hd ME DRAWN TJH |CHECKED LZOOOC SS TO ER
! I hald CAD
v ) o
416 < 65 4/ - \1/\[ ELEVATION L\l s/ ceNERAL ammANGEMENT _ TRACED APPROVED 4 1y MODULE ‘A’ ERECTION DETAILS
= DATE SCALE DRG. No. REV,
REFERENCE DRAWINGS REF REVISION DATE | APP. 13-12-84 1:10 J 44_‘] / 2 / ‘l




fee]

[
|
{
|
|
|
I
!
[

M16 x 50 \

~

N

for

e

M20 x 80 X/S —

Mi6 x 55—\

~

~N

A
y/
y/,

B

Mi16 x 40 —

T

e

2/Mi6 x 70 X/S —\

—— —

SA3
2/ SP-]\

.

2/SH1

2/M'|5X7O X/S/

M16 x 65 X/S ——0u

MI6 x 70 X/S /

_-

Mi6 x 60 X/S

AN
AN
\ .
\
NN\
AN ‘
&
.¢.
0 \d ¥
il ! !
] i ]
] { |
{ 1 1
i | i
| I |
i I f
I [ |
I { ]
v i ]
! i !
i f i
{ i I}
| I I
! i 1
i i ]
I | i
Mi16 x 50 : : :
7 I I |
| i |
I I |
i i i
I ! I
I I I
C+ / I I i
ci6 [ ! i
| i I
\ / | : :
A 1 | 1
N / I I I
N ! I !
: | i
Za _ cs_ _ _ _ )
4% | | i
N | c : |
AN I i i
\\ | I ]
| i |
\ \\\ 1 I 1
X ! I |
\ C14 | 1 !
M16 x 60— N | | I
N I I I
! i I
| i I
I I |
! i )
I ! I
i I |
| ! i
| | i
i 1 |
i I I
i i !
i I i
I I !
| i |
I | I
I I |
I I i
i | |
I I I
I I i
I I i
| [ ]
i I |
I | I
I [ 1
I I i
I f |
| i i
I I |
i I I
J t I
f ! |
I | ;
i I I
I i i
I I i
| I !
| i I
I [ |
I I i
I | I
f I I
I I I
| | |
i I |
I I |
I | i
i | i
I ] I
I i I
I I I
| I i
| { :
i I |
I | i
+ 4]
X )
: /— Mi6 x 40
3 ¢ 3/M12 x 35—
=)

L51

LADDER STILE ~___

3/M12 x 30
(M12 x 35 USED WHEN
CAGE LADDER HOOP FITTED)

TYPICAL LADDER SPLICE

~—1s3

O

™~

Fa

]

Mi12 x 30

\ LADDER BRACKET

POLT___ SCHEDULE

SIZE QryY. DESCRIPTION REMARKS
Mi2 x 30 12 HEX. HD. ¢/w NUT & SPRING WASHER GALV. GR. 4.6
MiZ x 35. 6 ” I
Wi x 40 6 HEX. HD. c¢/w NUT & SPRING WASHER GALV. GR. 8.8
Mi16 x 45 2 » ”

Mi6 x 50 34 ” .
Mi6 « 55 16 ) »
Mi16 x 60 (1] ] - ”
M15 x €S 12 » »
Mid x 70 43 ” —_—— ) —
M20 x 80 8 HEX. HD. c/w NUT & SPRING WASHER GALV. GR. 8.8

I

/—4/M|2 x 30

PH1

| 11~ 4
PR N Z (HUNG FROM DIAGONALS)
~ i
) N 7 Cc1d
| /H S . e ol
] !
| | \
_/ el N \ 2/M16 x 45
2 M16 x 60 1 |
I
| y
\ -1
A ~CL.C ]
-]
1 —
' ]
é
] SECTION C1-—C1 7]
| —
?
GENERAL NOTES
1. U.O.N. ALL STEEL TO BE GR.250C.
2. U.O.N. ALL STEEL TO BE HOT DIP GALVANISED.
3. U.O.N. ALL BOLTS TO BE HEX. HD. GALVANISED, GR.B.8
c/w NUT AND SPRING WASHER.
4. BOLTS MARKED X/S HAVE THE SCREW THREAD OUT OF THE SEHCSAR PLANE. -
MK No, [ 1TEM T DESCRIPTION A
;54 Afé/ﬁﬂ 6‘0 7'07..036MATERIALS LIST
This design ot drawing is not sold but lent. JENN'S &( LEBLANC COMMUN!CAT'ONS PTYLTD.
e D ot 32 REDCLIFFE ROAD REDCLIFFE W.A. 6104
and is subject to recall. lts contents must .
not be communicaled to any person Te!eph‘one 277 8866 Teiex AAQ5003
whatsoever without the writt t —_ "
of JENN;sa.LeaLANceco«:lM:J’;;::ngriJFlJ! EL‘L_CTRIC”-Y AUTHORlTY
ORAWN TJH  |CHECKED iJLZOOOC S.S TOWER
REFERENCE DRAWINGS REF REVISION DATE | APP. DAT§5--12-89 SCALE 10 . DRG. !Uo. - 441//2 / 3 o 'REVV_

e g et



i — Cg; SIZE Qry. DESCRIPTION REMARKS
= | \ 10/ M8 x 50 #00K BOLTS
| ) \4/M8 x 110 HOOK BOLTS Mi2 » 30 14 HEX. HD. c/w MUT & SPRING WASHER GALV. GR. 4.6
: \\ Ml2 x 35 10 ” - n
v — _ Mi& x 50
'3 i: 3 E \ N A
M § ‘ : AN M€ x 10 N 8 x S0~
' ; i N\, \ D22 ~ M16 x 20 13 HEX. HD. ¢/w NUT & SPRING WASHER GALV. GR. 8.8
| 1 —> '
| b /'/-\'\ T 3 Mi6 x 25 40 |—- » _ R
é : ; I Ve MIZ x 30 ! __ti Mi6 x 50 4 —_— e 22 ”
i i ’
- = & | : : = = == ] , Mi6 x 55 16 —_—_n ”
D1 ‘ | |4 j \ ek
i ! '\ 3 ! M16 x 60 32 - v — —- — 9 —
Y I I\ ! _ 1 ADDER \"ﬁ\- MI6 x 65 8 —— » »
. . DER
! 1 BRACKET ) M15 x 70 8 — TR R - Y p—
,.’—M‘s x 45 } § ‘F?“%_ \ Mig x 75 48 o)) e | e
J L) i 1 -
H ! ! T?—5+H+J . R A
i | \‘FLT; MB x 50 i8 | HOOK BOLT c/w NUT & SPRING WASHER MK, NC GCA
i M8 x 110 4 » MK, HG. GCB4

M18 x 45~
\

A

T~

! A ~—M16 x 50

__,._..‘-
\‘

D22

M16 x 55\

- GRa4
| _L—"" §/M8 x 50 HOOK BOLTS

GENERAL NOTES

. U.C.N. ALL ZTEEL TO BE GR.250.

U.O.N. ALL STEEL TO BE HOT DIP GALVANISED.

\ U.O.N. ALL BOLTS TO BE HEX. HD. GALVANISED. GR.8.8
1/ 2 c/w NUT AND SPRING WASHER.

1t L@S‘\/\ . . BOLTS MARKEUL X/S HAVE THE SCREW THREAD OUT OF THE SHEAR PLANE.
022 M16 x 45

SECTION D1—-D1

e

3

MiB x 60 X/S ™.

3/M16 x 75 X/S—~

M16 x 60 X/S —
! !
i
1
! |
! ]
i
i
1 'Y ]
! )
: X —~ &4/M12 » 35 — PH1 -
: | % N {HUNG FROM DIAGONALS) _
I i N
| ] | /:}\ ----------- 2 i A e — —u ]
I :" s
[ | p H —
i | t e : AN
: : 2/M16 x 50 —~ L2 | | LB AN —
[ i ! -Mi2 x 30 i ~~2/M16 x 45
| | | AN -
an  emm—— ] I I:! = = ]
D2 b : ¥ | o2
, : : X 7
[ I e
: : ! ~ LADDER BRACKET ]
e | —
M16 x 55— ! |
. Mi6 x 50-° I I
i | | ]
| 1
| ] —
| 1
| i
| I
I H
i I
i |
§ I
[ |
aal or
i 4

SA4 TN MI6 x 45
2/SP2 O~ X |
2/5H2 g . l B
" SECTION D2—-D2 |
NTS
- l —
3/M16 x 75 X/S— LADDER CL2 | I
MI6 x 60 X/5 — o, i
M16 x 65 X/S _//f MK No. | 'IEM 1 D DESERIPTION oA
M16 x 60 X/S — . o
/ 3/M12 x 35 —\ ff/ﬂw/v—o LO-7TD#- O3# MATERIALS LIST o
o This design or drawing is not sold but lent. JENN'S & LeBLANC COMMUN'CAT:ONS PTY.LTD. C
e e D o wanonts must 12 REDCLIFFE ROAD REDCLIFFE W.A. 6104
LADDER STILE T mmicated to any person Telephone 277 8866 Telex AA95003

whatsoever without the written consent

LS?2 of JENNIS & LeBLANC COMMUNICATIONS F'IJ I ELECTR l C I-]-Y AUTH O R ITY
DRAWN CHECKED JL2000C S.S. TOWER

3/M12 % 30—
s % 53 T

82&% EABBEgSiEBOgHE{%TD) s TRACED APPROVED MODULE cD) ERECTION Dr—rA”_
TYPICAL LADDER SPLICE s/ crme samaisnian — e o R Mo =T

REFERENCE DRAWINGS REF REVISION DATE | APP. 15-12~89 1:12 U.O.N. J 4 4_1 / 2 / 4




TEN SR IS |
YR VRN ac2F3s1UB3|AC2F3S 1UB | B
\ ‘\/' - ’/ m*x&;—-_-
¥__l/ ITEM NO|DESCRIFTICN|CESCRIPTION|CESCRIFTION|{DESCRIPTIOMN e
! i (PFC) CM1F CM1F
L. (‘U 2BOLT) M12 x 110 M12 x 120
i Jr
E’T’rlf'— 3 (BOLT)| M12 x 110 | M12 x 110
| e
\ ; STABILISER SS sS -
ASSY. SS | | ]
STANDARD || % 40\\ | A MO RENG A A
STABILISER - TYPICAL
BRACKET |
A LEFT HAND : -
POSITION (DM )/1;7 |
/’ ! B
(2) | 3
[ R ’ e | \\/"‘
MOUNTING bl L b
TYPE A 4= —
| .
[ j»- S _
. iy .
e e \/2\\
Ij: .x.f[ \\/
' —
v
MOUNTING  ——— /] f
vee & (CMBX) | ;|.
! i 1)
|
H
S [ ,
LM - N\ " \[ \ :
| |
D~ \l ] |
‘l i
A
!
\ NS
T |( Df\/l >
! e
ITEMS \\ _/ 0 \
TYPICAL AW | \ u ,_’ Z A DM | ) ASSY. SS
O N T STD. STABL:
| 2/ 1 L _ STD. STABL'R.
| l B S —3"\ BRACKET RIGHT -
]’ \ “\ gié&x +0 || HANC POSITION LA LDGNC S ~-TOR-O I :
~ . ' . = . , = BTy :
<CM5>‘ / : l\ \ Ny oy o ror s out e |[SENNIS 3 LsBLANC COMMUNICATIONS ITY: !_
\ u‘ l Q # romans no oraperty i o Sompony 32 REDCUIFFE ROAD REDCLIFFE W.A. 5104 :
| . Yo . b ono i3 subject ‘o recall. Rs contemts must _ — N -
(1\ I Wnstsoser mibaes the writen sonsant o 'elepnone 277 3866  Telex AA95003
\\_//' :b = - VENNIS % LedLANC COMMUNICATIONS. F'U’ ELECTR'C‘T\/ A\L}Ti_’l (;\ F‘!T\( .
AN ‘ ’ = T e /
(" ‘\_/7,' !“ .' - JL200CC S S TIWER -
\&/ | i DR Tm_|emeckeo ANTENNA MOUNT 0N FAZT
/r\M ~ \/ ' o e TRACZO APPROVED = | CENERAL APRANGEMENT
w MO AS3Y. NSS — NON STD 37ABL'R. BRKT. :
N LIEU/ADDITIONAL 7O 37D, ONE OATE SeAE - doRe.wo. REV.
(OPTIONAL TO CLIENT) 27-12-39 NTS | Jad1/2/3 | |

FLEr | AAISR4 | AATSW4 |
‘ | —. A - i
§ TeEM N2 ITESCRIFTION|DESCRIPTION|DESCRIPTION|DESCRIPTION
1 AM8 am8
; ) M16 x 50 M16 x 50
2 (4 OFF) (4" OFF)
3 M12 x 140 M12 x 160
AM7R AM7W
. o < AM4R AMAW
DETAIL ‘B° FOR TYPE AAIS(A io Y)
: 6 8M2R BM2W ,
, N e 7 M2 x 140 | M12 x 180 -
: \\ — /~ SEE DETAIL B
, \ / 8 BMiR BM1W
) _—TT
, - 2 -
. J N\( IMI2 <« 123 U BOLT| S AM4R AMAW
: (4 OFF BOLTS) 4 g 10 M12 x 140 | M12 x 160
STABILISER SRACKET 1 , \ ¥
OPTIONAL T0 CLENT / L% ‘ﬁ b AMSR AMS'V
i - 4| | ﬁ) [}
J / \ 12 AM78 AM78 ?
KETN G
b%

(

AM1 = i150.0. CHS.|

\

Mi2 x 128 1 80L]|

" /
/| o= -
- 1
":l

(4 OFF BOLTS) , |
SLALEENC EO-TOF-O3O

@/ ] e - - A R (_\“p]‘/‘
GRIDPAK ANTENNA MOUNT JENNIS & L=2BLANC COMMUNICATION |

W remony e Srowmna, 13 Mol SO0 Sut Jent. 32 REDCLFFZ ROAD REDCLIFFE W.A 6104 7.
] , it remoing the oropenty »i 'his company 32 FFe RC f IFFE A 4.

<] 4ol 4 vt and is subject to rocal. its contents mus ;
ASSY. TYPE AAT(T to 5)(A to ) I e s T Telephone 277 3866 Telex AA9S003 “ i
. ’ . JENNIS 4 LaBLANC COMMUNICATIONS. Fi\_Jl ELEFW-RngTY /—\IJTl—iC RITY ;
g i‘ﬁ'@ N 1 . JL2000C S.S TOWER |
N g 0 N PRAWN 1 |CHECKED ANTENNA MCUNT ON LEG
TYPE aalt TvPE AAY(2,3,4,5) TYPE AAI(2.3.4,5) TYPE Aal(2.5.4 3) o TRACED APPROVED FKK | GENERAL ARRANCEMENT
; : [ S ey ira AL, ™, = ARTLL, D, %, |
‘ e ‘ s e SoAT A DATE SCALE lore. NO. REV. »
‘ TYPICAL LEGC SECTIONS 2L TION A—A 27-12-39 NTS I d447/2/6




TEN SR IS |
YR VRN ac2F3s1UB3|AC2F3S 1UB | B
\ ‘\/' - ’/ m*x&;—-_-
¥__l/ ITEM NO|DESCRIFTICN|CESCRIPTION|CESCRIFTION|{DESCRIPTIOMN e
! i (PFC) CM1F CM1F
L. (‘U 2BOLT) M12 x 110 M12 x 120
i Jr
E’T’rlf'— 3 (BOLT)| M12 x 110 | M12 x 110
| e
\ ; STABILISER SS sS -
ASSY. SS | | ]
STANDARD || % 40\\ | A MO RENG A A
STABILISER - TYPICAL
BRACKET |
A LEFT HAND : -
POSITION (DM )/1;7 |
/’ ! B
(2) | 3
[ R ’ e | \\/"‘
MOUNTING bl L b
TYPE A 4= —
| .
[ j»- S _
. iy .
e e \/2\\
Ij: .x.f[ \\/
' —
v
MOUNTING  ——— /] f
vee & (CMBX) | ;|.
! i 1)
|
H
S [ ,
LM - N\ " \[ \ :
| |
D~ \l ] |
‘l i
A
!
\ NS
T |( Df\/l >
! e
ITEMS \\ _/ 0 \
TYPICAL AW | \ u ,_’ Z A DM | ) ASSY. SS
O N T STD. STABL:
| 2/ 1 L _ STD. STABL'R.
| l B S —3"\ BRACKET RIGHT -
]’ \ “\ gié&x +0 || HANC POSITION LA LDGNC S ~-TOR-O I :
~ . ' . = . , = BTy :
<CM5>‘ / : l\ \ Ny oy o ror s out e |[SENNIS 3 LsBLANC COMMUNICATIONS ITY: !_
\ u‘ l Q # romans no oraperty i o Sompony 32 REDCUIFFE ROAD REDCLIFFE W.A. 5104 :
| . Yo . b ono i3 subject ‘o recall. Rs contemts must _ — N -
(1\ I Wnstsoser mibaes the writen sonsant o 'elepnone 277 3866  Telex AA95003
\\_//' :b = - VENNIS % LedLANC COMMUNICATIONS. F'U’ ELECTR'C‘T\/ A\L}Ti_’l (;\ F‘!T\( .
AN ‘ ’ = T e /
(" ‘\_/7,' !“ .' - JL200CC S S TIWER -
\&/ | i DR Tm_|emeckeo ANTENNA MOUNT 0N FAZT
/r\M ~ \/ ' o e TRACZO APPROVED = | CENERAL APRANGEMENT
w MO AS3Y. NSS — NON STD 37ABL'R. BRKT. :
N LIEU/ADDITIONAL 7O 37D, ONE OATE SeAE - doRe.wo. REV.
(OPTIONAL TO CLIENT) 27-12-39 NTS | Jad1/2/3 | |

FLEr | AAISR4 | AATSW4 |
‘ | —. A - i
§ TeEM N2 ITESCRIFTION|DESCRIPTION|DESCRIPTION|DESCRIPTION
1 AM8 am8
; ) M16 x 50 M16 x 50
2 (4 OFF) (4" OFF)
3 M12 x 140 M12 x 160
AM7R AM7W
. o < AM4R AMAW
DETAIL ‘B° FOR TYPE AAIS(A io Y)
: 6 8M2R BM2W ,
, N e 7 M2 x 140 | M12 x 180 -
: \\ — /~ SEE DETAIL B
, \ / 8 BMiR BM1W
) _—TT
, - 2 -
. J N\( IMI2 <« 123 U BOLT| S AM4R AMAW
: (4 OFF BOLTS) 4 g 10 M12 x 140 | M12 x 160
STABILISER SRACKET 1 , \ ¥
OPTIONAL T0 CLENT / L% ‘ﬁ b AMSR AMS'V
i - 4| | ﬁ) [}
J / \ 12 AM78 AM78 ?
KETN G
b%

(

AM1 = i150.0. CHS.|

\

Mi2 x 128 1 80L]|

" /
/| o= -
- 1
":l

(4 OFF BOLTS) , |
SLALEENC EO-TOF-O3O

@/ ] e - - A R (_\“p]‘/‘
GRIDPAK ANTENNA MOUNT JENNIS & L=2BLANC COMMUNICATION |

W remony e Srowmna, 13 Mol SO0 Sut Jent. 32 REDCLFFZ ROAD REDCLIFFE W.A 6104 7.
] , it remoing the oropenty »i 'his company 32 FFe RC f IFFE A 4.

<] 4ol 4 vt and is subject to rocal. its contents mus ;
ASSY. TYPE AAT(T to 5)(A to ) I e s T Telephone 277 3866 Telex AA9S003 “ i
. ’ . JENNIS 4 LaBLANC COMMUNICATIONS. Fi\_Jl ELEFW-RngTY /—\IJTl—iC RITY ;
g i‘ﬁ'@ N 1 . JL2000C S.S TOWER |
N g 0 N PRAWN 1 |CHECKED ANTENNA MCUNT ON LEG
TYPE aalt TvPE AAY(2,3,4,5) TYPE AAI(2.3.4,5) TYPE Aal(2.5.4 3) o TRACED APPROVED FKK | GENERAL ARRANCEMENT
; : [ S ey ira AL, ™, = ARTLL, D, %, |
‘ e ‘ s e SoAT A DATE SCALE lore. NO. REV. »
‘ TYPICAL LEGC SECTIONS 2L TION A—A 27-12-39 NTS I d447/2/6




	Tender Document & Specifications_MR232-2017_Rust Treatment and Refurbishment of Communication Towers
	MR232-2017_A. Contents
	MR232-2017_B Part 1
	INTRODUCTION
	INVITATION TO TENDER
	DATE
	DOCUMENTS ENCLOSED
	ISSUE OF DOCUMENTS
	ACKNOWLEDGEMENT
	TENDER CLOSE DATE

	SCHEDULE 1
	TENDER ACKNOWLEDGMENT FORM


	MR232-2017_C Part 2
	MR232-2017_D Part 3
	TENDER LETTER
	APPENDIX TO THE TENDER LETTER
	FORM 1 - EXCEPTIONS AND DEPARTURES
	FORM 2 - CONTRACT PROGRAMME
	FORM 3 - SUB-CONTRACTOR-SUPPLIER LISTING
	FORM 4 – CONTRACT SPECIFIC SYSTEMS INFORMATION
	SAFETY
	QUALITY ASSURANCE

	FORM 5 - LABOUR, PLANT AND EQUIPMENT RATES
	FORM 6 - OVERHEADS AND PROFIT
	FORM 7 - WORKS IMPLEMENTATION OUTLINE
	FORM 8 - RESOURCE LISTING
	FORM 9- SCHEDULE OF PRICES

	MR232-2017_E Part 4
	MR232-2017_F Part 5
	PART A – SPECIFIC CONDITIONS OF CONTRACT
	Second Schedule
	Sixth Schedule
	Seventh Schedule
	Eighth schedule
	Ninth Schedule
	Tenth Schedule

	MR232-2017_G Part 6
	1.0 PRELIMINARY AND GENERAL
	1.1 Introduction
	1.2 Scope Of Work - GENERAL
	1.3 Access Tracks
	1.4 ACCOMMODATION – Facilities
	1.5 Communications
	1.6 COMMUNICATION Equipment Outages
	1.7 Health And Safety
	1.8 Quality Records
	1.9 Hold & Witness Points
	1.10 Environmental Considerations
	1.11 Materials
	1.12 Return Of Materials
	1.13 References

	2.0 SCOPE OF WORK - PAINTING
	2.1 Re-inspection
	2.2 Defect Liability Inspection Programme
	2.3 Primary Surface Preparation
	2.4 Secondary Preparation
	2.5 Washing Down
	2.6 Soluble Salts
	2.7 Care Of Insulators
	2.8 Painting
	2.9 Paint Application
	2.10 Paint Inspection And Thickness Testing
	2.11 Repair Of Damaged Or Defective Paintwork

	APPENDIX I - STANDARDS
	OTHER STANDARDS
	APPENDIX II - PRINCIPAL SUPPLIED MATERIAL
	APPENDIX III - PERMITTED PRODUCTS (COATINGS)
	APPENDIX IV – MATERIAL SCHEDULE

	MR232-2017_H Part 7

	Telecom Tower Drawings
	60_T07_040
	60_T07_041
	60_T07_042
	60T0018&019
	60T07001
	60T07002
	60T07003
	60T07004
	60T07005
	60T07006
	60T07007
	60T07008
	60T07009
	60T07010
	60T07011
	60T07012
	60T07013
	60T07014
	60T07015
	60T07016-&-017
	60T07020
	60T07021
	60T07022-&-023
	60T07024-&-025
	60T07026
	60T07027
	60T07028
	60T07029
	60T07030
	60T07031&032
	60T07033
	60T07034
	60T07036
	60T07037
	60T07038&039
	Copy of 60T07038&039


